UGC NET 2022 WOMEN STUDIES

Topic:- 074_SEPT22_S1_PartA
1)  What iz Gender Studies?

[Question ID = 806][Question Description = 101_74_Women_studies_SEPT22_Q01]
It investigates the genuine phyvsical and bioclezical differences hetween women and
nmen.
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[Option ID = 3221]
2. Tt studies dualisme of sex.

TZ TFE F oA F ASET w2 |

[Option ID = 3222]
3. Itis afield of interdisciplinary study.

T7 o TEUE S A

[Option ID = 3223]

4 It studies women and girls.

[Option ID = 3224]

2) Whose autobiography is titled Memoirs of a Rolling Stone 7

FeieTias 5 4 FRhl ST S HEISE A e 2 A
[Question ID = 807][Question Description = 102_74_Women_studies_SEPT22_Q02]

- Sharmila Rege

ST T
[Option ID = 3225]
Vina Mazumdar

[Option ID = 3226]
3. Gavatrl Spivak

e TeETE

[Option ID = 3227]
4. Kamla Bhasin

AT GHEA

[Option ID = 3228]

3) Which of the following vefers to the phenomenon that women and children are
disproportionately represented among the world's poor compared to men?
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[Question ID = 808][Question Description = 103_74_Women_studies_SEPT22_Q03]

1. Female-headed households

[Option ID = 3229]
2. Female mohihty
B s
[Option ID = 3230]
3. Feminization of paverty

[Option ID = 3231]
4. Female literacy rate

=] I o5

[Option ID = 3232]

4) Who wrote that the origin of patriarchy in the ancient Near East was a 2500-vear period
from nearly 3100 BC to 600 BC rather than a single event?

FetieiEd 3 | a7 for 2 T aeiE S T 6 e I e R ST A A e 3100
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[Question ID = 809][Question Description = 104_74_Women_studies_SEPT22_Q04]
1. Gerda Lerner

[Option ID = 3233]
2. Sylvia Walby

[Option ID = 3234]
3. Carole Pateman

17;1,—,]-: T w‘_“
[Option ID = 3235]
4 Jean Gardiner
A ME

[Option ID = 3236]

3) Who among the following 12 the author of the book "Queer Theory: An Intraduction?”

“TeEa Al T 2SR S T i ANEE e 5 H i R

[Question ID = 810][Question Description = 105_74_Women_studies_SEPT22_QO05]
. Kate Millet



2 oo
[Option ID = 3237]
2. Rosemarie Tong

[Option ID = 3238]
3. Annamarie Jagose

[Option ID = 3239]
4. Simone De Beauvolr

famm = =

[Option ID = 3240]

6) Who among the following is closely associated with Seneca Falls Canvention?

FHthEd § o F T FeE e § R T g B
[Question ID = 811][Question Description = 106_74_Women_studies_SEPT22_Q06]
1. Edith Abbot
[Option ID = 3241]
2. Mary Wollstonecraft

[Option ID = 3242]
3. Shulamith Firvestone

e

[Option ID = 3243]
4. Elizabeth Cady Stanton

TTAAEY F2] 22
[Option ID = 3244]

7)) Which Feminist thought states that. empowerment and equality for women cannot be

achieved within the framework of capitalism?
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[Question ID = 812][Question Description = 107_74_Women_studies_SEPT22_Q07]

1. Radical Feminism

[Option ID = 3245]

2. Marxist Feminism



[Option ID = 3246]
3. Liberal Feminmism

W ANERE

[Option ID = 3247]
4. Eeco Feminism

[Option ID = 3248]

8) Who amongst the following said that “Nature 1s to culture as female 1s to male™

THEAteiEn o @ 95 FREH F99 7 T ST $H ¢ S U e 5A 2 67

[Question ID = 813][Question Description = 108_74_Women_studies_SEPT22_Q08]
1. Diane Elson

o Jq--t [..r- E

[Option ID = 3249]
2. Sandra Harding

[Option ID = 3250]

3. Easter Boserup
[Option ID = 3251]
4. Sherry Ortner
[Option ID = 3252]
9) During Colonial period Women's education in India was promoted through:
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[Question ID = 814][Question Description = 109_74_Women_studies_SEPT22_Q09]
1. Pitt's Act 1784
oz wwz 1784

[Option ID = 3253]
2. Charter Actof 1813

1813 =1 =7 T2

[Option ID = 3254]
3. Macaulay's Minute of 1835

1835 =1 9 592

[Option ID = 3255]
4. Woods dispatch of 1854

1554 T I3 =i

[Option ID = 3256]



10)  Which theory views education as a means of widening the social inequality?
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[Question ID = 815][Question Description = 110_74_Women_studies_SEPT22_Q10]
1. Svmbolic Interactionism

THIFEF 3 A
[Option ID = 3257]
2. Conflict Theory

5= g

[Option ID = 3258]
3. Structural Funetionalism

]--[IE:III-I! E A E F‘.'Il-a T

[Option ID = 3259]
4. Existentialism

[Option ID = 3260]

11 e ; . }
) If a perzon's biological sex and =ocial gender conforms to each other. the perzon 1s called:

[Question ID = 816][Question Description = 111_74_Women_studies_SEPT22_Q11]

1. Cisgender

= (T
[Option ID = 3261]

2. Transgender

=

[Option ID = 3262]
3. Androgenous

=)

T

[Option ID = 3263]

4. Trans-sexual
e
[Option ID = 3264]
12)  Whe wrote the book titled “Pedagogy of the Oppressed”?
“TSTIT ATE T HTES | S TR TeAeEa B A e T i

[Question ID = 817][Question Description = 112_74_Women_studies_SEPT22_Q12]
1. Paulo Freire

TATAT T

[Option ID = 3265]



2. M\hchael Apple

HTsHe T

[Option ID = 3266]
3. Karl Marx

[Option ID = 3267]
Shulamith Firestone

T THY FEEZE
[Option ID = 3268]

13) Who propounded 'dual svstem theory which means mutual accommodation between
patriarchy and capitalism, which rezultz in & vicious civcle of dizsadvantage for women?
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[Question ID = 818][Question Description = 113_74_Women_studies_SEPT22_Q13]
1. Ann Qalkley
‘E_:{ == &,

[Option ID = 3269]
Heidi Hartmann

[Option ID = 3270]
3. Delphyv and Leonard

[Option ID = 3271]
4. Catherine Halam

2.

[Option ID = 3272]

14) Census of India categorizes workers as

a1 S FAEE B FeGEs 7 8 w0 e e 2l
[Question ID = 819][Question Description = 114_74_Women_studies_SEPT22_Q14]
1. Main and Marginal Workers
quliy:[ 'ﬂ"[T 1:”']:|'|?|" T ?mp' =

[Option ID = 3273]
2. Usual Principal Status and Usual Principal Subsidiary Status

[Option ID = 3274]
3. Main and Subsidiary workers



[Option ID = 3275]
4. Principal and Marginal Workers
[Option ID = 3276]

15) The pattern of unpaid work that exists even when women are engaged in outside work for an
income. whether as wage worlers or self-emploved workers 1= called
@ A 9 F e e W H Hem wE R AW WEg 9w w6 w1 A, 78 f sEa w0
T TEAl 2 - 56 e e B
[Question ID = 820][Question Description = 115_74_Women_studies_SEPT22_Q15]
. Double burden

a0

[Option ID = 3277]
2. DPecent work

[Option ID = 3278]
3. Deplorahle burden
T T

[Option ID = 3279]
4. Burdensome work

A== =
[Option ID = 3280]

The Ministry of Women and Child Development launched a unigue Direct Online Marketing

16)
Platform fo suppori Women Entrepreneurs/SHGs/NGO named ;
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[Question ID = 821][Question Description = 116_74_Women_studies_SEPT22_Q16]

1. Nahila E-haat

[Option ID = 3281]
2. Women E-Helpline

r

[Option ID = 3282]
3. Women E-centre

T -
[Option ID = 3283]
4 Mahila E-Helpline

I]‘E‘F"” B GG
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[Option ID = 3284]



17)  Ministry of Women and Child Development has launched a portal where women facing
sexual havassment at workplace can vegister their complaint. What is the name of this
portal?

oiEeT 7 A [GFE 9 9 UF e HEY A F S FEEE 9 A 39 F ST # T 5iEan
AT IR T 0 HHAl 2 | 6 TP ® A R

[Question ID = 822][Question Description = 117_74_Women_studies_SEPT22_Q17]
- Ministrv of Women and Child Development e-box

TiEeT W7 O [aE 59w s —aaE

[Option ID = 3285]
2. National SH e-portal

T T T -

[Option ID = 3286]
3. Sexual Harassment electronic Box (She-Box)

HF S FEHE TAAAE e (7 =)

[Option ID = 3287]
4. SBexual Harazsment Portal

HFgae FH TP
[Option ID = 3288]

18) Which state has recorded highest increase in the prevalence of anemia among children under
five and women 1in the age group of 15-49 as per the fifth round of the NFHS for 2019-20207

2019-2020 = AU THHA 9HET FRE FE49 F 7= 57 F A9E0 e § 9 5 79 E ae 36 J
FH 9 F w= AW 15-49 W A F AR w Weaa 5 S § wEiE gy e s e e
[Question ID = 823][Question Description = 118_74_Women_studies_SEPT22_Q18]
' Bihar

[Option ID = 3289]
2. Aseam
HAH
[Option ID = 3290]
3. Odisha
—q—l-h-'—r[- i .‘
[Option ID = 3291]
4. Rajsthan
T

[Option ID = 3292]
o

19) What iz the main aim of "Janani Surksha Yorna'

] AT ATHAT T AT A § HET 369 hiE A" Y



[Question ID = 824][Question Description = 119_74_Women_studies_SEPT22_Q19]
1. Reducing maternal and neonatal mortality

A1 T T geg 50w S

[Option ID = 3293]
2. Encouraging couple touse safe sexual method

[Option ID = 3294]
3. To provide pension to widows

fa"aarm Tl _q'._|:| e Al

[Option ID = 3295]
4. To provide shelter to poor elderly women

[Option ID = 3296]

20) What does 'S’ stand for in SATH. an initiative by Government of India to make
transformation in Health and Education Sectors by associating with States?

oA | R e § o TR o anen wew 2t
[Question ID = 825][Question Description = 120_74_Women_studies_SEPT22_Q20]

1. Supervisory

-

TEHIEA

=

[Option ID = 3297]
2. Bustainability

N 2 e
[Option ID = 3298]
3. Soreial
.-[. ||i

[Option ID = 3299]
4. Supremacy

[Option ID = 3300]

21 . . : ) 0
) Monthly Village Health and Nutmtion Days (VHND) are organized as an outreach activity
at;
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[Question ID = 826][Question Description = 121_74_Women_studies_SEPT22_Q21]
1. Anganwadi Centres

[Option ID = 3301]



2. Primary Health Centres

[Option ID = 3302]

- Primary Schools
T T
[Option ID = 3303]

4. District hozpitals

[Option ID = 3304]

22) The Mental Healtheare Act was enacted in the vean:

U TR TEAT ATaeEs R A 8 sy e T
[Question ID = 827][Question Description = 122_74_Women_studies_SEPT22_Q22]
1. 2015

[Option ID = 3305]

2. 2016

[Option ID = 3306]
2017

[Option ID = 3307]

4 2018

[Option ID = 3308]

23) The permissible use of the techmque amniocentesis 1s for:

[ e T . o et - F o e AT i, S = = R T
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[Question ID = 828][Question Description = 123_74_Women_studies_SEPT22_Q23]
1. Detecting anyv genetic abnormality

TRl e SIETHEET F U S F e

[Option ID = 3309]
2. Detecting sex of the unborn fetus

[Option ID = 3310]
3. Avtificial Insemination

[Option ID = 3311]
4. Transfer of embrvo in the uterus of a surrogate mother

FrgEE WA o T IR (U)W A

[Option ID = 3312]

24) The glohal gender gap index examines four overall areas of ineguality between men and
women. Which one of the following 1s not a variable used in this measurement?
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[Question ID = 829][Question Description = 124_74_Women_studies_SEPT22_Q24]

1. Economic Participation and Opportunity

£ 11 e i ey e o
[Option ID = 3313]
Educational Attainment

[Option ID = 3314]
3. Political Empowerment

ars [
TIAAITAF FeRa
[Option ID = 3315]
4. Viclence agamnst Women
r‘ﬂ’fi % .3]\;3 Eﬁ. H
[Option ID = 3316]

25) Which development approach is based on the premise that women are marginalized in
development-oriented interventions. with the result that women are often excluded from the

benefits of development?
(et SR B = e B e B e I B o e AR 1 1 R o et s 1 M e ot
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[Question ID = 830][Question Description = 125_74_Women_studies_SEPT22_Q25]
1. Women in Development
Taere & aieem
[Option ID = 3317]
2. Women and Development
[Option ID = 3318]
3. Gender and Development

[Option ID = 3319]
4. Human Development

[Option ID = 3320]
26) YWhich scheme seeks to provide One stop convergent support services for empowering rural

women with opportunities for gkill development. employment, digital hiteracy. health and
nutrition?

f=falEs 8 @ +9 of =hm ol ofEene & Fiue GEm, TR, StEee ma, =ees @ TEEn
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[Question ID = 831][Question Description = 126_74_Women_studies_SEPT22_Q26]



1. Mahila Shalti Kendra

[Option ID = 3321]
2. Ujjwala

FTE

[Option ID = 3322]
3. Sahla

&0

[Option ID = 3323]

4. Nirbhava

e

iREEI

[Option ID = 3324]

27) Nirbhaya Fund was set up by the Government of India for:
ol e s BT o e R R e B b o e =i o e e T e e 0 B

[Question ID = 832][Question Description = 127_74_Women_studies_SEPT22_Q27]
! Providing special funds to police to protect women

[Option D = 3325]

2.

Utilization for projects specifically designed to improve the safety and security of
women

afeetall 1 AT ST o= § GEE % (0 (@90 w9 H Tie F1 T8 Gt 5 S99 wq

[Option ID = 3326]
3. Provide compensation to women victims of sexual violence

=14 Temn o WS Ataem= i AEgd 759 F F o
[Option ID = 3327]

4. Provide funds for teaining of women n self defence
[Option ID = 3328]

28)  Women's Component Plan was adopted in the :

niEe U2 AT e = TS A

[Question ID = 833][Question Description = 128_74_Women_studies_SEPT22_Q28]
! Ninth Plan

[Option ID = 3329]
2. Tenth Plan

[Option ID = 3330]

3. Eleventh Plan



[Option ID = 3331]
4. Twelfth Plan

AT AT

[Option ID = 3332]

29) Which one of the following recommended co-opting two women members into the
Panchayvats?
AT § A TR ST 6 5] AT Seel F SR w0 T SEeE w6 7

[Question ID = 834][Question Description = 129_74_Women_studies_SEPT22_Q29]
1. Balwantrai Mehta Committee Report

[Option ID = 3333]
2. Ashok Mehta Committee Report

[Option ID = 3334]

3. Towards Equality Report
[Option ID = 3335]

4 National Policy for Emplowerment of Women
TYH Bimet] FE A7
[Option ID = 3336]

30) What iz known as the International Bill of Women's rights?

ETEs 9 4 0 qiEensl  SaE F SEE bUaF B qE A6 a8

[Question ID = 835][Question Description = 130_74_Women_studies_SEPT22_Q30]
. DEVAW

21 s i w s

[Option ID = 3337]

2. CEDAW
HEdives

[Option ID = 3338]
3. Beijing Declaration

EUER Rl

[Option ID = 3339]
4. ICPD

T = o

[Option ID = 3340]



31)  The key global policy document that member states of the United Nations reaffirmed to
enhance thelr commitment to Gender Equality 1= ;

T4 T2 F HEE =9 A AR gEEA A A afemsa 39 F = Fofehen § 9 B oo
Afvas Hiiq geaEs H g g A

[Question ID = 836][Question Description = 131_74_Women_studies_SEPT22_Q31]
1. UN Security Council resolution 1325
I T8 A Uies g9 1325

[Option ID = 3341]
2. Convention on the Elimination of All forms of Discrimination Against Women

[Option ID = 3342]
3. Sustainable Development Goals

[ T TR

[Option ID = 3343]
4 Beijing Declaration and Platform of Action

[Option ID = 3344]

32) When was the Women's Reservation Bill introduced in the Parliament of India?

Himell SAMAT 994 F1 9AA Fl TG0 B Hefengs 8 9 w8 T e 1@ gt
[Question ID = 837][Question Description = 132_74_Women_studies_SEPT22_Q32]
1 1996

[Option ID = 3345]

2. 2000
[Option ID = 3346]
3. 2008

[Option ID = 3347]
4. 2009

[Option ID = 3348]

33) What should be the total number of workers in an establishment to make it mandatory to
establish créches under the Maternity Benefit Act as amended 1 20177

2017 | HEITHE WHIG TEEET AT % AT P TAEE 8 e T w5 AN s F e am
7 T FHEE FT T AT [AAET 8 H e 2= =

[Question ID = 838][Question Description = 133_74_Women_studies_SEPT22_Q33]

1. more than 100 workers

100 FE T H=iow

[Option ID = 3349]

more than 75 workers
7s HHal | #iwn

[Option ID = 3350]

3. more than 50 workers

2.



50 oAl § AT

[Option ID = 3351]
4. more than 35 workers

15 Fgl § AEE

[Option ID = 3352]

34)  The goal of first wave of feminism was :

ARTETE, 1 TAE FE 1 ATEnES § H T e o

[Question ID = 839][Question Description = 134_74_Women_studies_SEPT22_Q34]
1. Women's Suffrage

[Option ID = 3353]
2. Right to Sexuality

[Option ID = 3354]
3. Wages for housework

e FE F e A

[Option ID = 3355]

4. Reproduction Rights

[Option ID = 3356]

35)
Who 1s the author of the famous work ‘The Svmbelie Anmhilation of Women by the Mass

Media'?

[e £ = r o . = r T 4 A -
TG I T EHAeTE Gralsaan ATh g0 915 % 98 HJs91 = 5E@® FAeieigg § 75w 5 ¢
[Question ID = 840][Question Description = 135_74_Women_studies_SEPT22_Q35]

1. 8. Schumann

TH, TEH
[Option ID = 3357]
2. J, Bernard
ERCEIE
[Option ID = 3358]
3. George Gerbner

[Option ID = 3359]
4. (raye Tuchman

7 7=

[Option ID = 3360]

36) (Cinema. televizion. magazines are ‘technologies of gender’ (as well of ‘race'. class and other
differences): the representation of gender 1s Its construction. Whose statement 1= thas?
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[Question ID = 841][Question Description = 136_74_Women_studies_SEPT22_Q36]
1. Theresa de Lauretis

[Option ID = 3361]
2. Judith Butler

[Option ID = 3362]
3. Mary Wollstoneeraft

e

[Option ID = 3363]
4. Julia Kiisteva

-r . s
[Option ID = 3364]
37) Who fivet defined the term stereotype in his book Public Opinion (1922)?
eSS § F TR SO T U sEEe (1922) 9 fEfERET ur # Aduan qiramne e
1 e

[Question ID = 842][Question Description = 137_74_Women_studies_SEPT22_Q37]
1. Bernard Berelson

Fr oo

IS WoET

[Option ID = 3365]
2. Water Lippmann

[Option ID = 3366]
3. N. Brigham

v, T

[Option ID = 3367]
4. John Taylor

= 2

[Option ID = 3368]

38) Gender expression refers to which of the following?

TR AT F1 T s 8 O e AT AT
[Question ID = 843][Question Description = 138_74_Women_studies_SEPT22_Q38]
" Food Habit of the Individual

[Option ID = 3369]

2. The biological sex that a person'is born with



= 59 9% 799 F g 7 S

[Option ID = 3370]
3. The way in which a person acts fo communicate gender within a given culture

i w4 fm e & S i w2

[Option ID = 3371]
4. The economic context of that person

=5 =gF T ANAF 75

[Option ID = 3372]

39) Encoding/decoding model of communication was developed by:

HU] T FEeAEH [ [EA W5t 1 (9w a8 e

[Question ID = 844][Question Description = 139_74_Women_studies_SEPT22_Q39]
. Stuart Hall

=9 A

[Option ID = 3373]
2. (George Bernard Shaw

r r:.;-ﬂ'“'

[Option ID = 3374]
3. Paul Gilroy

[Option ID = 3375]
4.  Lawrence Grozzbhergy

[Option ID = 3376]

40) fWhich feminist researchers among the following argue that objectivity needs to be

ey

transformed into “femunist objectivity?

FeEs 8 | T TR AEEE T FAA T S e # CANEn SEeEa 8w e
+i aETEEa 27

[Question ID = 845][Question Description = 140_74_Women_studies_SEPT22_Q40]
1. Donna Haraway. Sandra Harding and Kum-Kum Bhavnani

[Option ID = 3377]
2. Kum-Kum Bhavnani. Janet Saltzman Chafetz and Heldi Hartmann

FHFA TG, T A Aad ThgA A wal 7eEd

[Option ID = 3378]
3. Janet Saltzman Chafetz. Heldi Hartmann and Donna Haraway

[Option ID = 3379]



4. Sandra Harding, Roberta Spalter-Roth and Heldi Hartmann

TS BT, TR W - AN Rhl FeEA

[Option ID = 3380]

41) Which among the following statement are self educative reasons for reviewing the literature

(I Form a foundation of topical and methodological knowledge and expertise
(IT) Facilitate the development of vour own methodeologies

(III}) Inform vour audience of what 1s happening in the field

(IV) Develop skills in critical thinking/analvsis

Choose the correct answer from the options given below :
eATiEs 3 | FF A T WA T 5 - T o 2
@) TERTE S T T s G amw b
(IT) 3799 =9 1 TOMa & 9o =9 a1

AIl) %5 4 991 71 1 2, 30F 9§ TEE R AFFRT 5

(IV) SATAEHATEE = [ESeee & H el ] @ e
BB AUR R G & ot et = i s e 0 ez oo e 31 = A

[Question ID = 846][Question Description = 141_74_Women_studies_SEPT22_Q41]
1. (I) and (IIL) are correct

e (1) =7 (110

[Option ID = 3381]
2. (I} and (II) are correct
Fae (1) = (I0)

[Option ID = 3382]
3. (I} and (IV) are correct

Faer (IT) 5 (IV)

[Option ID = 3383]
4. (I). (IT) and (IV) are correct

Fae (1), (ID) =7 (IV)

[Option ID = 3384]

42) Which among the following arve characteristies of qualitative ressarch?

(A) Data analysis starts only after data collection and data coding.
(B) It involves thematic analysis and discourse analysis.

(Cy Codinig 1s the first step for the researcher to move bevond tangible data to make
analytic interpretations.

(D) It involves theoretical samplinz,

Choose the correct answer from the options given below :



TAeTetige o W Hia-H1 TR I = Ear E
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(D) T Tl Wi e E |
A= fou v e | | WA 39 W 99 HE
[Question ID = 847][Question Description = 142_74_Women_studies_SEPT22_Q42]
- (A). (B) and (D) only
Fa5 (A), (B) =i (D)

[Option ID = 3385]
2. (A). (B) and (C) only

49 (A), (B) 5 (C)

[Option ID = 3386]
3. (B). (C) and (D) only

4 B). (C) 30 (D)

[Option ID = 3387]
4. (A). (C) and (D) only

4 (A), (C) #T (D)
[Option ID = 3388]

43) Which of the following Computer assisted qualitative data analysis software is used in
guahtative analysis?
(A ATIAS version b
(B) MAXQDA version 2
() Nvive version &
(D) R-Analysis
Choose the correct answer from the options given below :

fretfeian # @ W A e i e 321 e SR TR 5 e §

(A)  TEEE T - S

(B) THUUSH T T 2

(C) v T o= §

(D)  HAR-TaveEm

Jm= fau e et 1 HE I A S 0
[Question ID = 848][Question Description = 143_74_Women_studies_SEPT22_Q43]
1. (A), (B) and (C) only

A (A). (B) 7 (C)

[Option ID = 3389]
2. {A),1C)and (D) only

T (A), (C) 51 (D)



[Option ID = 3390]
3. (B). (C) and (D) only

Faa (B). (C) #7 (D)

[Option ID = 3391]
4. (A). (B) and (D) only

*a= (A), (B) 5 (D)

[Option ID = 3392]

44) Women's studies is an academic field that:

(A) Examines systems of privileze and oppression

(B) Proves how women are more valuable than men
(C) Draws on feminist and interdisciplinary methods
D) Examines social and cultural constructs of gender

Chonse the correct answer from the options given helow :

RimeTl HSHE U 3G HS & 2 | 1

(&) TEmfasr st aramEm F sFEwn = Wi e e

(B) == Aitea a1 7 1% qi=ei0 9E] 1 ST g geaar A
(C)  AWEr SR we e EE g o e w

(D) ST % HETE S A A (FEE) A Hee A
Bl B L o e TR I= i o 5 e 1 e o e ) = L
[Question ID = 849][Question Description = 144_74_Women_studies_SEPT22_Q44]
1. (A), (B) and (C) only
T3 (A), (B) 5 (C)

[Option ID = 3393]
2. (A) (C) and (D) only

e (A). (©) #1 (D)

[Option ID = 3394]
3. (B). (C) and (D) only

=1 (B). (C) 310 (D)

[Option ID = 3395]
4. {A). (B) and (D) only

F95 (A), (B) 317 (D)

[Option ID = 3396]



45)

(A)
(B)
()

(D)

Feminism as a movement :

Iz about women being better than men
Is a unified body of thought

Acknowledges how different forms of diserimination intersect with and amphfy
zender based diserimination

Iz ahout learning and understanding the ways that inequality affect women and men

Choose the correct answer from the options given below :

AT TF S 6 EY H

(A)
(B)
(C)

(D)
= fem

[Question

e e st e et s o e i e [

7= ST Al B F R YANE e e SE TR 5 R Fed 7 AR A5 s e
I AT 7

= WIS F AR § S SE A0 (e T STEAEE A 3 0 R e #a

0 Tohedl § | WA 35 1 =9 i

ID = 850][Question Description = 145_74_Women_studies_SEPT22_Q45]

1. (A) and (B) only

A (A) 377 (B)

[Option ID = 3397]

(B) and (C) only

4 (B) #i (Q)

[Option ID = 3398]

(C) and (D) only

Fae (C) # (D)

[Option ID = 3399]

" (A) and (D) only

HA (A) #7(D)

[Option ID = 3400]

46)

Who were the proponents of the notion of standpoint, a feminist theoretical perspective that

argues that knowledge stems firom the 2ocial position?

(A)
(B)
()
(D)

Sandra Harding

Nancy Hartsock

Kate Millet

Suszan Gubar & Sandra Gilbert

Choose the correct answer from the options given below :



=z Wiz 1 gum W 06 U AWEE Hgitad gieEm W aE Ggia Wl § 7 S A e o
Stearfee® wial 7 | S 9W0T % WEEE B A 7

(A) AT FET

(B) =1 zEHE®

(C) =2 W=z

(D) T TER 3 A e

= 50 U e 8 1 R I W = S

[Question ID = 851][Question Description = 146_74_Women_studies_SEPT22_Q46]
1. {A) and (B) only

T (A) 37 (B)

[Option ID = 3401]
2. (B)and (C) only

F99 (B) 31 (C)
[Option ID = 3402]
3. (Cyand (D) only
Fad (C) =i (D)
[Option ID = 3403]
4. (A) and (D) only
F=7 (A) #: (D)

[Option ID = 3404]

47)  Who among the following were included in the Consclousness-raising groups that were

formed by New York Radical Women in 19677

(A) Nancy Hartsock

(B) Elaine Showalter
(O Shulamith Firestone
(D) Carol Hanizch

Choose the correct answer from the options given below :

Fr=eTlEs 3 @ 0 1967 § =T 1150 S99 1 9470 TR = S99 S92 ° AN 6 70 4 7
(&) =i = T
':BJ '-.',; |J.:' -!'-L”E-”'-""‘_“_.{
(C)  TIRY TR
(D) FT= 2R
S 2o o e § & HE 3 o g i
[Question ID = 852][Question Description = 147_74_Women_studies_SEPT22_Q47]
1. (A) and (B) only
Fa (A) #T (B)

[Option ID = 3405]
2. (B) and (C) only



=== (B) 1 (C)
[Option ID = 3406]
3. (C)and (D) only

F99 (C) 47 (D)
[Option ID = 3407]
4. (A) and (D) only
e (A) #Fn (D)
[Option ID = 3408]

48) The Convention on the Elimination of All Forms of Discrimination against Women (CEDAW)

15 built on three foundational principles:
(A) Non-discrimination

{B) State obligation

(C) Substantive equality

(D) Intermediation

Choose the correct answer from the options given below :

o) R T et e L A e T ot 2 e e e e M B i R - R G P e 2 B e
(A)  T-TEETE

(B} T =]

(C)  arafas JaEaT
(I HEFEEA]
Hr fou o fEEew § H HE 390 # 9 Hhie

[Question ID = 853][Question Description = 148_74_Women_studies_SEPT22_Q48]
1. (A). (B) and (D) only
e (A). (B) € (D)

[Option ID = 3409]
2. (A), (B) and (C) only

4= (A). (B) 5T ()

[Option ID = 3410]
3. (B). (C) and (D) only

5+ (B), (€) 3t (D)

[Option ID = 3411]
4. (A), Q) and (D) only

a5 (A), (C) #T (D)

[Option ID = 3412]



49)  Black feminist thought :

(A) Reflects the interests and standpoint of its creators.

(B) Breaks the silence of oppression by drawing from Black women's experiences.
Q) Prioritized gender over either race or class,

(I Is an alternative epistemnlogy for assessing knowledge claims,

Choose the correct answer from the options siven below :
(B)  Hvad SlAeNsll T FAST § 0 A G ST W S0 Asdl 2
(C) 5 wivEy @ W e i WA fAaid w2 2

(D) 1T SE T T F S % GeaA e A T ST e A
Fra B W fawen © # u9E w o =as i

[Question ID = 854][Question Description = 149_74_Women_studies_SEPT22_Q49]
1. (A). (B) and (D) only

F (A), (B) #1 (D)
[Option ID = 3413]

2. (A). (B) and (C) only

a9 (A). (B) 371 (€)

[Option ID = 3414]
3. (B).(C)and (D) only

Fae (B). (C) #1W (D)

[Option ID = 3415]
4. (A), (C) and (D) only

e (A), (C) #1 (D)
[Option ID = 3416]

50)  Anti-prostitution feminists hold that prostitution :

(A) Is a form of exploitation of women and male dominance over women.

(B) Iz a practice that 1= the result of the existing patriarchal societal order.

(0 As forms of sex work can be valid choices for women and men who choose to engage in
it.
(D) Iz a legitimate form of work for women.

Choose the correct answer from the options given below :

(B) W= U SEER B F [ (A s Wi ey s |
(C) = Hi=eT U3 T5T THY WHE 71 ARG 7 9 0 39 B F =9 T T8 =99 99 7 5 2
(D) el & fom w5 1 0% 99 T 2 |

i fou T e 3§ "9 39gF I w9 R



[Question ID = 855][Question Description = 150_74_Women_studies_SEPT22_Q50]
1. (A) and (B) only

a9 (A) 17 (B)
[Option ID = 3417]

2. (A)and (C) only

Fe (A) 1 (C)

[Option ID = 3418]
3. (B) and (C) only

e (B) @i (€)

[Option ID = 3419]
4. (C)and (D) only

47 (C) 37 (D)

[Option ID = 3420]

51) “I cannot be an Asian American on Mondav. a woman on Tuesday. a lesbian on Wednesdayv, a

worker/student on Thursday, and a political radical on Friday. I am all these things every
day.” What does this statement mmply?
(A) The perzonal and the political are one.

(B) The interconnections hetween the various kinds of oppression each woman face in her
Iife.

() Women's identity 1s a single strand.
(D) The unity and wholeness of women.

Choose the correct answer from the options given below :

"} AHEw F AR S, oA # OF GlEal 99T # oieEE, gEeiaan w U B 3E
ST ] U T S —aEaara] A5 7 BEAT 59 A ° w27

(A) =T AR AT T |

(B) Mm99 TR F 59 o0 S99 THE TaF BiEen T A9 A9 e § =/ R
(C)  =reenen 1 TEEF UF T 00 R |

(D) A= =i THAT 7 A |

A 150 T TR § H HE I R = HiA

[Question ID = 856][Question Description = 151_74_Women_studies_SEPT22_Q51]
1. (A). (B) only

Fa= (A). (B)

[Option ID = 3421]
2. (B), (C) only

F3=1 (B). (C)

[Option ID = 3422]
3. (C). (D) enly

F35 (C), (D)

[Option ID = 3423]



4. (A), (D) only

F= (A), (D)

[Option ID = 3424]

32) According to Audre Lorde, when a woman walks into a room filled with women from all over

the world. she wants to minimize her differences from them and strains to focus on women's
oneness," This type of behaviour explains:

(A) The inability to forge the kind of alliances necessary to create a better world,

(B) A total denial of the creative function of the difference in our lives,
{(C) The intention tc sweep women's differences under the rug.
(D) A focus on women's diversities.

Chaoose the correct answer from the options given below :
g HIG F FEE, 99 U Wee 9 [Grd ° T S B OF 9 9 UH9 FAA] 2 a1 98 3 w7
B R e S C e i e e B o B 2 e L B et B e D D e L ) e i
(A) TF T FvE F A F T 9EvE TEEe T FEE A T SEga|
(B)  7OW FS B IO F oIS w0 ° U0 IEE =
(€)  HieemT ™ HEGl T o o A SHe S|
(D) AN & fafaga 7w |
A o, T fareal § 0 HeE U I T A hiian

[Question ID = 857][Question Description = 152_74_Women_studies_SEPT22_Q52]
1. (A), (B) and (D) only

Fa# (A), (B) 517 (D)

[Option ID = 3425]
2. (A). (B) and (C) only

FaeT (A). (B) 31 (C)

[Option ID = 3426]
3. (B). (C)and (D) only

3 (B). (C) 31 (D)

[Option ID = 3427]
4. (A, (C) and (D) only

=&+ (A). (C) = (D)

[Option ID = 3428]



53)

What does Robin Morgan mean when she writes. "Women are the world's proletarat?

(A)

(B)

(C)

(D)

o

Even though housework constitutes 60 to S0 per cent of most nations’ economics, it
continues to suffer from gross national product invisibility.

Mareinal female labour force 1s a hishly convenient asset ; cheap, always available.
easily and callously disposed of.

Women are unskilled, incompetent and not trained to earn the same remuneration as
a man,

Women and men receive the same wages for the same type of work.

Choose the correct answer from the options given helow :

TR JFE T G0 73T 98 Faal 2 R AiEe 9vE i gEER a1 F e |

(&)

(B)

(<)
(D)

e At T S SIEed | YR i 60 § 80 WA @ EI] & S g8 A TP I

F1 AgTIEET H T A 7

TR HiEeT AAE 5 U SeEnaE GEae GRE £ W], Hod 39w, HEE J HT 5

ik :
| FarerE S # |

B e oo M o e 1 e e R Bt e e e e ) e R

HiEenAl AN T F HEE T w5 F T A e w2

5 foo T faeal § A eE IUEE I T R

[Question ID = 858][Question Description = 153_74_Women_studies_SEPT22_Q53]
(A). (B) only

1.

et (A), (B)

[Option ID = 3429]

(B). (C) only

F4 (B). (C)

[Option ID = 3430]

- (0. (D) only

a9 (C), (D)

[Option ID = 3431]

(&), (D) only

== (A). (D)

[Option ID = 3432]

54)

The Commission on the Status of Women (CSW or UNCEW) ¢

(A)

(B)
(8]

(D)

Does not limit participation to states only. For example. NGOs are alzo allowed to
participate in sessions of the CSW.

In 1995, the Commission held the Fourth World Conference for Aetion in Beljing.

The CSW wa= not 3 part of drafting the Declaration on the Ehmination of
Discrimination against Women,

The UNCEW was establizhed in 1964,

Choose the correct answer from the options given below :



s -

Tzl 1 feafa w amm (H ') =g a9 3 ™ = vg 5ey)

(A) e T T AR o H0T TR ], S5 0 Sirasse & 5 J U S A H e
(B) 1995 #, 3{FEW A witw ¥ =i vy FEaw a=em dEiag e |
(©) i g saeg wlEenst F fEens w9 F e Hedi SEaen o O 59w TR Ay |

M) g H vE S5 1964 T TGS B AT |

1= o T el § 3 HeE 39T ST R =9 a0

[Question ID = 859][Question Description = 154_74_Women_studies_SEPT22_Q54]
1. {A), (B) only

Fa (A). (B)

[Option ID = 3433]
2. (B). (C)only

= (B). ()

[Option ID = 3434]
3. (@), (D) only

*3 (C). (D)

[Option ID = 3435]
4. (A), (D) onls

F3=1 (A). (D)

[Option ID = 3436]

33)  Cuba’s Fidel Castro once proposed that “hairdressers remain open during the evening to ease

the burden of the woman who iz employved during the dav but needs to he atfractive in her
housewife’s role at night”, What does this statement reveal?
(A) Expozes sexist solutions,

(B) Shows no awareness of the situation of female hairdressers, who might not be able to
work nmight shifts. because of their own family responsibilities.

(C) Strategies that are feasible for women who need to support their families,
(D) Governments understand women's complaints about their “double day".

Choose the correct answer from the options given below :
T Thee FE 4w Aw ol i o & R § S Fe Tl gt @ A gee F e e
od Fi FE T T R, W OF gE T 9 el S gy FaE w v oo amE
SEVEF = |° 9% FU 99 SA0E FEr 8 7

(A)  F7 TR HHEE ST w

(B) 7= 3 afeen zw A 1 e F aw # e 7w 2, 5 s wientes freten  w
wia-Torez # % e @ e T A wwd |

(C)  worfifeat, S =9 R % faw =awtn 2, ok fow s afan 5 aues e SEvaE 2

(D) w wtrenst F o A pE we wn geed s e e

T 150 0 Tkl B W HEE 0 I S =S A

[Question ID = 860][Question Description = 155_74_Women_studies_SEPT22_Q55]



1. (A). (B) only
Fae (A (B)
[Option ID = 3437]

2. (B). (C) only
#= (B). (C)
[Option ID = 3438]

3. (C). (D) only
Fa# (C), (D)
[Option ID = 3439]

4. (A), (D) enly
4 (A). (D)

[Option ID = 3440]

56)  Feminism is defined by the belief that women's relative subordination must he questioned

and addrezsed through

(A) Feminist Research
(B) Femimizst Theory

(C)  Feminist Orientalism
(D) Feminist Politics

Choose the correct answer from the options given below :
AT 39 HTEE WY T TR A R R SRl ) ATErE SRS W g S qE
M0 37 a3 F OE JeaE 9 S R SE 9
(A)  FEEE
(B) i mEm

(C)  ArEr g
(D)  =rfa T
e fom e faspeal B weE TugE 0 A=A A

[Question ID = 861][Question Description = 156_74_Women_studies_SEPT22_Q56]
1. (A) and (C) only

Faet (A) #T ()

[Option ID = 3441]
2. (B). (Cyand (D) only

F3= (B), (C) #17 (D)

[Option ID = 3442]
3. (A). (B) and (D) only

Hae (A), (B) it (D)

[Option ID = 3443]
4. (B) and (C) only

= (B) 57 ()

[Option ID = 3444]



57) What 1g the need for the Sexual Harassment of Women at the Workplace (Prevention.
Prohibition and Redressal) Act. 20137

(A) Sexual harassment remained unspeakable for centures
(B) Sexual harassment being prevalent but nameless
(0 To reduce workforce participation of women in wage labour
(D) Sexual harassment reduces the women's workforece participation
Choose the correct answer from the options given below :
FEYE W AH 3ets Fad Ataem (Fawm, afaeg @i fEe) 2013 5 S0 e s 2
(A) = 3EisA  HE W EieAl 7 HE TR o T
(B) =W 3eilsd wEieE o1, T 508 T
(C) &7 W ofeen 4iF F FE—aa F 9rE F1 22 7
W 50 U faeRe] B H TeE 30 I ) A R
[Question ID = 862][Question Description = 157_74_Women_studies_SEPT22_Q57]
1. {A) and (B) only
et (A) #T(B)

[Option ID = 3445]
2. (A), (B) and (D) only

Fa4 (A), (B) 317 (D)

[Option ID = 3446]
3. 1A) and (C) only

A= (A) F1(C)

[Option ID = 3447]
4. (B). (C)and (D) only

= (B). (C) #7 (D)

[Option ID = 3448]

58)  Gender Empowerment Measure (GEM) iz calculated on the basig of the following indicators :
{A) Women's Emplovment
(B) Seat 10 Parliament

() Reproductive Health
(D) Share of Household income

Choose the correct answer from the options given below :

{A)  HiEeTHEl F THR F ATEE T

(B) ©F% § o & SER W

(C)  ToFe = AT W

(D) o o A [ & saE W

Fr= Tou 70 faFeT § O TeE ST I 0 WA A

[Question ID = 863][Question Description = 158_74_Women_studies_SEPT22_Q58]



1. (A) and (C) only

A9 (A) F7(C)
[Option ID = 3449]

2. (B). (C) and (D) only
== (B), (C) # (D)
[Option ID = 3450]

3. (A). (B) and (D) only
49 (A), (B) 3 (D)
[Option ID = 3451]

4 (A), (B) and (©) only

Fa (A). (B) 3117 (C)

[Option ID = 3452]

59) How Patriarchy operates at school level?

{4) Throush hidden curriculum

(B) Gendered socialization within school
(C) Gender-neutral contents

(D} Gendered nature of sports and games

Choose the correct answer from the options given below :
T TR e e e R

(A)  3Tva TEEEE |
(B)  Te=mers § e ST
(C) =7 2% TaTa-a

/w0 e § ¥ HeE IO I F 59 A

[Question ID = 864][Question Description = 159_74_Women_studies_SEPT22_Q59]
. {A) and (B) only

F=7 (A) #17 (B)

[Option ID = 3453]
2. (A), (B)and (C) only

#4949 (A), (B) #i (C)

[Option ID = 3454]
3. (C) and (B) only

A= (C) A7 (B)

[Option ID = 3455]
4. (A). (B) and (D) only

99 (A). (B) #Hi (D)

[Option ID = 3456]



60)

Women's Education led to

(A)
(E)
(C)
(D)

Increased Iabour force participation
Decrease in fertility level
Increased Gender-based violence

Decrease in Child mortality

Choose the correct answer from the options given below :

Tl T9aT = Sie;

(A)  FhgTa F7 A TR

(B)  wH@Tal %o |

(C)  Figmm =7 i femn

(D) =T T ° A

Fra fou e 2 | TeE 399 I = FE

[Question ID = 865][Question Description = 160_74_Women_studies_SEPT22_Q60]
1. (A), (B). (C) only

T4+ (A), (B). (C)

[Option ID = 3457]
2. (B), (C). (D) only

F77 (B). (C). (D)

[Option ID = 3458]
3. (A, (B), (D) only

F4+ (A). (B). (D)

[Option ID = 3459]
4. (C), (D). (A) only

9= (C), (D). (A)

[Option ID = 3460]

61)

Identify the features of RTE :

(A)

(B)
(C)

(I

Right to Education Aet (RTE) provided free and compulsory education to children in
2009 and enforced it as fundamental right under Article 21-A

RTE 1s not applicable to children above 14 yvears.

The Act mandates 50% reservation for disadvantaged sections of the society where
disadvantaged groups have been included.

It had a clause for "No Detention Poliey” which has been removed under The Right of
Children to Free and Compulsory Education (Amendment) Aect. 2019,

Choose the correct answer from the options given below :



(A)

(B
(C)

()

TorET 1 AiaFw AEEEE (HE A 5) 4 2000 9 @ F HueE vd AFEE 9 wEE 2 A
=0 FFTgT 21T S Alfes SgEE A T uEE |

T A 2 14 T 3 T F S W A A A

= wiikEE FEE F 99 GeEl F 0% s S e 2 el 3ia AgE B e

T = 7 |

i e 0 e 0 2 Bt e 0| =t e e e o s M e A i B | e D
= wteaEr B o e 2

T fakedi B HeE 399 T R I R

[Question ID = 866][Question Description = 161_74_Women_studies_SEPT22_Qé61]
1. (A), (B) and (C) only

#=9 (A), (B) 31 (C)

[Option
2. (A

[Option

ID = 3461]
B) and (D) only

{A), (B) 317 (D)

ID = 3462]

3. (B). (C) and (D) only

Fae (B). (C) 31 (D)

[Option ID = 3463]
4. (A). (C) and (D) only

T |

A). (C) =1 (D)

[Option ID = 3464]

62)

(A)
(B)
(Q)
(D)

Which of the followings are the findings of the “Reay Study" (2001) :

Assertive behaviour from zirls 1s often seen as disruptive
Grrl's mishehaviour 1= viewed as a desire to assert themselves

Bov's mishehaviour 1s viewed to be looked upon as a character defect

Socialization of givls occurs at the school level by tolerating different hehaviours from

bovs than from girls

Choose the correct answer from the options given below :

FefeiEs | fiv w=3 (2001) F Fowd 5 7 F®E-9E 7

(A)
(B)
(C)
(1)

et = e 1 B o e 0 1 O 1= e i e o e )
ASF F gFER F T FH F A T G T AW 2

e e e e e A Rk R R e o e e e o e e e 1 e o e 2 e B o 2 e e e e o

#r= fou v feEEeal | | weE I9gT 39 H = A

[Question ID = 867][Question Description = 162_74_Women_studies_SEPT22_Q62]
1. (A (B) only

a5 (A) F7 (B)



2.

3.

4.

63)

[Option ID = 3465]
(B). (C) only

= (B) 31 (C)
[Option ID = 3466]
(B, (D) only
= (B) 317 (D)
[Option ID = 3467]
(A), (D) only
#99 (A) #Hi7 (D)

[Option ID = 3468]

The Sarva Shiksha Abhivan (SSA) has introduced a number of strategies and approaches to
achieve Universal Elementary Education (UEE) with a special focus on tribal children by
considering them as 'Special Focus Group (SFG). The programmes specially designed with
an eve on encouraging indigenous learning, Identify these special initiatives:

(A) Setting up of tribal schools in their own surroundings (in their habitations — forest
and hilly regions).
(B) Preparation of text books in mother tongue for these children at pramary level itself

and Appointment of specially trained teachers with knowledge of tribal dialect.
(C) Payving no special attention to children of nomadic and migratory households,
(D) Diesigning a curriculum with locally relevant teaching materials and teaching skalls,
Choose the eorrect answer from the options given below :
T W AagH (vHTET) F SEE0G F g W I @98 Sk G5 (THUEH ) 5 JEEiEE e
i e el 1 i oo s el e M e - e - G e e o B o e T e e = i i e
mﬁlﬁam‘ﬁm?ﬁnmﬁmwm | =7 faer s 1 Te=e w0

(A) AN THeTeEl i 3 GRE (3 TR U GRSl Sl A ) AT S

(B) WIEH{l T F T S= & Teih! H 6 SR § AW FE1 T S0 6] $ O a aeiad
(D) a7 973 F1 ToEE ey e i v wEs Fie oA w1
= fou v e O F S ST I R 99 A

[Question ID = 868][Question Description = 163_74_Women_studies_SEPT22_Q63]

1.

2.

3.

4.

(A). (B) and (C) only

F=3 (A). (B) #1 (C)

[Option ID = 3469]
(B), (€) and (D) only

Fae (B), (C) 37 (D)

[Option ID = 3470]
{A), (B)y and (D) only

Fa (A). (B) 57 (D)

[Option ID = 3471]
(A). (Crand (D) only



T (A), (C) # (D)

[Option ID = 3472]

64)  The Gandhian perspectives of the Samagra Nai Talim. laid down the following :

(A) Free. universal and compulsory education should be provided for only boys hetween
the ages of 7-14 vears.

(B) Education should be imparted in the mother tongue of the child.

(C) All education should centre on some basic craft chosen with due regard to the
capacity of the child and the needs of the locality.

(D) This eraft must not be taught mechanically but its social and scientific implications
are to be studied side by side.

Choose the correct answer from the options given helow :
FETeEn 3 7 FE TR artem e S e o
(A FeE o=l vE stEE o o wEe 7 F 14 99 5 S F A S e = |
(B T w= i g 8 A S = |

(D) =5 3T T FECEAT T GEET S SR 355 WIS T SwiE G 6 9Es a1 O F
A w7 9EmE =

Fr Teo o fawedl # 1 wEA I9EE I H S A0
[Question ID = 869][Question Description = 164_74_Women_studies_SEPT22_Q64]
1. (A) (B and (D) only

Fae (A). (B) 57 (D)

[Option ID = 3473]

2. (A), (B) and (C) only
F=e1 (A). (B) 31T (C)
[Option ID = 3474]

3. (A). (C) and (D) only
A (A). (C) 377 (D)
[Option ID = 3475]

4. (B).(C) and (D) only
Fa (B). (C) 377 (D)

[Option ID = 3476]

65) Unpaid labour performed by women constitutes of

(4A) House work

(B} Care work

(C) Sex work

(D) Reproductive work

Choose the correct answer from the options given below :



TiEeAT G A AR AT AT A9 0 A0 o

(A) o FHE
({B) ?@W =4
(Cy a9 FE

(D) WA wE
# fou o FrEedl A A mEE S9EE I R 94 0
[Question ID = 870][Question Description = 165_74_Women_studies_SEPT22_Q65]
1. {A), (B) and (C) only
Fa (A), (B) 37 (C)
[Option ID = 3477]

2 (B). (C) and (D) only

=5 (B). (C) 317 (D)

[Option ID = 3478]
3. {A). (C) and (D) only

F4 (A), (C) 3T (D)

[Option ID = 3479]
4. (A). (B) and (D) only

g (A). (B) #it (D)
[Option ID = 3480]

66) La@shyva’ programme of the Ministry of Health and Family Welfare aims at :

(A) Toreduce maternal and newborn mortahty & morbidity
(B) To improve Quality of care during the deliverv and immediate pest-partum care

(C) To provide Respeetful Maternity Care (RMC) to all pregnant women attending the
public health facility

(D) To provide adequate facilities to prevent unwanted pregnancies and enhance
satisfaction of beneficiaries visiting the health facilities

Cheose the correct answer from the gptions given below :

(A) W UE AEE 909A] UE AEEEaEl § FHEl o

(B) == T F ENE T I E E GOE S TEE I a e
(C) =EAEF = g 8 SH g mf naEen el alenal # SmEEs Od aEgE

(= v =) woE

(D) EITSA THERE F I F P AT TeE R T e s F o a6 gan |

31 Tou T SR O F e 0SS 99 i

[Question ID = 871][Question Description = 166_74_Women_studies_SEPT22_Q66]
1. {A). (B) and (D) only

T3+ (A), (B) #1 (D)

[Option ID = 3481]



2. (A), (B) and (C) only

F=e (A), (B) 3 (C)
[Option ID = 3482]
3. {A), (D) and (C) only

T (A), (D) =7 (C)

[Option ID = 3483]
4. (D). (B)and (A) only

F=e (D). (B) %1 (A)

[Option ID = 3484]

67) .. . . . . .
Ranv Gandhi National Creche Scheme for the Children of Working Mothers 15 ¢
(A) To provide day-care facilities for children (6 months to 6 vears) of working mothers in
the community
(B) To improve nutrition and health status of Women and children

() To promote physical. cognitive. social and emotional development of children
(D) To educate and empower parente/care givers for better childeare

Choose the correct answer from the options given below |

FETE AT & S 2 A T U5 PEEET AT 2

(A)  TEEE B T T F w= v (6 FF A 6 91 aF) T F g wwE # |
(B) TS SR A= R AN R = e H gew w6

Fr fou T faweal B W weE IUg S 1 A A

[Question ID = 872][Question Description = 167_74_Women_studies_SEPT22_Q67]
1. {A), (B) and (C) only

Fas (A), (B) #1 (C)

[Option ID = 3485]
2. (A4), iCyand (D) only

== (A), (C) #17 (D)
[Option ID = 3486]
3. (B). (C) and (D) only
Fa= (B). (C) 717 (D)
[Option ID = 3487]
4. (D), (B) and (A) only
Fad (D). (B) #T (A)

[Option ID = 3488]



68)

(A)

(B)

()

Match List I wath List IT

TastI
SDG Goal

Goal I. End poverty in all its forms
evervwhere

Goal 3: Ensure Healthy lives and
proemote well-being for all at all ages

Goal 5 : Achieve gender eguality and
empower all women and girls

oal 8 : Promote sustained. inclusive
and sutainable economic growth, full
and productive emplovment and
decent work for all

(I

(IT)

List IT

Target
Implement mnationally appropriate
social  protection  systems  and

measures for all, and by 2030 achieve
substantial coverage of the poor and
the vualnerable

Enhance the wuse of enahiling
technology. In particular information
and communications techneology, to
promote the empowerment of women

(IIT) By 2030 reduce the global maternal

mortality ratio to less than 70 per
100,000 hive births

(IV) By 2030. achieve full and productive

emploviment and decent work for all
women and men. Including for voung
people and perzons with dizabilities.
and eqgual pay for work of equal value

Choose the correct answer from the options given below:

o= 1 % =719 11 g1 1 5= Fiw
11
TH 2 H TE
(A) = | md T A AT TR e

(B)

(C)

(D)

HATH FHA7)

= 3\ 5 v i e ° = e
T FEEE e

@ 5 ; W% HOEAT F OWE W A7 #yl
i . . i & 2 3 . -
O T ':ﬁh' EEIEE] =l TaTh T
= § : Hln TeTw Ug gnoiE SEw
I T @ IOEE I vd 26 F =

Hr 50 e foed] # H HE 3 1 =W i

(I

(II)

(IIT)

(IV)

[

F=I-10
Tt F 99 7gEm T W IagE wEieE
2030 7% WE T FEAE A @ (o
I FFAF F TEM F AW EEeEd A

2030 wF dfFaw ¥ gAT FAIE W
1,00,000 Sfif=a w=a1 @ 70 T %5 1|

2030 & Hreae o = w e ad
wH=E $E U FAT U q9E g F EE

[Question ID = 873][Question Description = 168_74_Women_studies_SEPT22_Q68]

1.

2.

3.

4.

[Option ID =
{A)-(I), (By(IT), (Cy-(IIL). (D)-(IV)

[Option ID =
{AIV). (B)-(II1)., (C)y4ID), (D)y<I)

[Option ID =
(AJIID, (Br-(IV), (Cy-(I), (D11

[Option ID =

(A)-(D), (By-(11I), (C)-(IT), (D)-(IV)

3489]

3490]

3491]

3492]



69) DMatch Last I with Tast TT

List I List II
{Helpline) (Phone Number)
(A) Child Helpline I 181

{B) Women Helpline (I} 1098
(C) Police Helpline (III) 1091
(D) Domestic Abuse (IV)y 100

Choose the correct answer from the options given below:

T 1 % = I g = e i

Gl L
(FeeE) (1 e
(A) wTEFS FeaETEA (I 181
(B) HfEe FeaeT (I) 1098
(C) gfem 2=aems (III) 10091
(D) = M- (IV) 100

Hi= fou 70 EEe A W HE I R 95 S

[Question ID = 874][Question Description = 169_74_Women_studies_SEPT22_Q69]
1 (A(D), (B)-(IT), (C)-(III). (D)-(IV)

[Option ID = 3493]
2. (A)(II). (B)-(IID). (C)-OV). (D)-(D)

[Option ID = 3494]
3 (AJIID). (B)-(IV). (C)-(D). {D)-(ID)

[Option ID = 3495]
4. (A)IV), (Bi-(D, (C)-(IT). (Dy-(IID)

[Option ID = 3496]

70 Match List T with List IT
LastI Last IT

(A) Dower (I) Waiting period after divorce

{B) Iddat (Il If two persons have a common lineal
ascendant

(C) Sapindas (ITT) Any present or jewellery given io a
WOman

(D) Streedhan (IV) Property given to wife in consideration

for marriage

Choose the correct answer from the options given below:



el 1 % oy 11 5= #1 5o Fifan

Eici8 TEIL
(A) FEmEEE (I)  &eTF & 99=1 SAan Hag
(B) =W (INy afs =t T F T A9 = A
(C) =T (ILLy =feem 1 <€ 75 %15 g FU=1 AT
(D) w=iea (IV) TaamE % Uiase o 9o41 %0 41 18 999

Fra foo o faweat § 9 oF I #1959 i

[Question ID = 875][Question Description = 170_74_Women_studies_SEPT22_Q70]
1. (A (Bi-(I5), (C)-(II). (D)-(IV)

(AT, (By-(ITy. (CH-(MD). (D)-(IV)
[Option ID = 3497]

2. (A)(IT), (By-(IID), (C)-(TV). (D)-(D)
{(A)-(ID), (B)-(IID). (C)-(IV). (D)-(I)
[Option ID = 3498]

3. (AYIID). (B)(IV). (C)-{D). (D)-(ID)
{(A)-(IIT). (By-(IV). (Chi=(T). (D11}
[Option ID = 3499]

4 (A)IV). (B)-(I). (O)-(II). (D)-(IID)
(AIV), (B)-(I), (C)-(IL), (D)-(IID

[Option ID = 3500]

1) Mateh List I with List II
Last I List I
{Book) {Author)
{A) Women's Global Health and Human (I) Padmm Murthy and Clyde Snuth
Rights
(B)y Women and Health (I) Mariene B. Goldman. Maureen C.
Hatch

(C) Birth Matters : Midwife's Manifesta (ITT) Ina May Gaskin

(D) The Unheard Scream : Reproductive (IV) AMohan Rao
Health and Women's Lives in India

Choose the correct answer from the options given below:



== 1 =g g 11 =1 faerm it

i1 w1

() Gitced
(A) THW AN o4 WS 7 eed (D) T gid va wess faa
(B) T TS Fed (I) &= ot Testy, oia =@ 29

(€) =4 #=d - Tosamsw shF= 1) =7 3 e
(D) =7 ¥es whm: oEFE o V) 9™

= 7o 0 fael § H HE T R 999 FIE0

[Question ID = 876][Question Description = 171_74_Women_studies_SEPT22_Q71]

T (A)(D), (B)-(II). (C)-«(TII). (D)-(IV)
(A, (Bi=I1), (C)-(IID). (D)-(IV)

[Option ID = 3501]
2. (A)-ID). (B)«IIDy. (C)-(IV). (Dy-(I)

(A)AIL), (B)-(IIL), (Cr-(IV), (DI

[Option ID = 3502]
30 (A)(TV). (BI-(IID). (C)y-(I). (D)-(IT)

(A(IV), (B)-(IIL). (Cy-(I). (D)-(II)

[Option ID = 3503]
4. (AT (By-(IT). (C)-(D). (DY-{TV)

(AT, (B)IL), (C)-(I), (D)-{IV)

[Option ID = 3504]

72)

Mateh List I with List IT
ListI List T
Book Author
(A) Reproducing the Womh (I} Alice E. Adams
(B) Abortion and Women's Choice  (II) Rosalind Petchesky
{C)  Velatile Bodies {III} Elizabeth Grozz
(D) Disembodying Women (IV) Barbara Duden

Choose the correct answer from the options given below:
o= 1 5 o9 11 5= = foem Fifm

=1 =10
(I) wfe € wgmm

(I)  TrTiee Tl

(IIT) TfeT=Tas s

V) w55

= fen o TaFeN B 1 OE 3 F 99 Eam



[Question ID = 877][Question Description = 172_74_Women_studies_SEPT22_Q72]
1. (A)I). (B)-(ID). (C)-(III). (D)-(IV)

(AL, (By(I1). (C)-(I1L), (Dy«IV)

[Option ID = 3505]
2. (AIV), (B)-I). (Ci-(ITy, {D)-(IIT)

(AR(IV). (By-(D). (C)-(II). (Dy-(I1I)

[Option ID = 3506]
3. (AWIID), (B)-@. (C)-(IV). (D)D)

(A)(IID), (By-(I), (C)=-(IV), (Dj-(1I)

[Option ID = 3507]
4. (A)(IT), (B)-(IV). (C)-(T). (D)-(IIT)

(A)-(IT), (B)-(IV). (C)-(I). (Dy-(IIT)

[Option ID = 3508]

73) Match List T with Last IT
TastI List IT
Methed Mode of Action
(4) Pills (I) Prevent sperms reaching cervix
(B} Condom (I} Prevents implantation
(C)y Vasectomy (III) Prevents ovulation
(D) Copper T (IV) Semen contains no sperm

Choose the correct answer from the options given below:

=1 I % = 11 5= = e i

T —
READ] =FarE i Tary
(A) Toem (D) ST 1 BT 9% T5EE | T 7
(B) Fr=m (IT)  STFTa™ = %A1 2
(C)  E=E (ITI) AsTear =i Tkl 2
(D) FE-2 (IV) =4 5 wpem 74 =
= fov v T € 1 w6 I = =99 A

[Question ID = 878][Question Description = 173_74_Women_studies_SEPT22_Q73]
T (AT, (B)-(IID), (C)-(D). (D)-(IV)

[Option ID = 3509]
2. (A)IID), (B)-(T), (C)-(IV). (D)-(IT)

[Option ID = 3510]
3¢ {A(IV). (B)=(T), (C)-{II). {D)-{I1I)

[Option ID = 3511]
4. (A)TIID). (B)«IV). (Ci(I). (D)-(IT)

[Option ID = 3512]



74)

=1

(A)
(B)
(C)
(D)

Mateh List I with List IT

Iast I
Conference

{A) The first UN World Conference on
Population was held at

{(Bi The second World Conference on
Population was held at

{C) The third UN World Conference on
Population was held at

{D) The fourth UN World Conference on
Population was held at

ListII
Place
(I) Rome
(IT} Belgrade

(I11) PBPucharest

{IV) Mexico

Choose the correct answer from the options given below:

-1

A
THEEA W OUEE g U 9% HUeE FaA 59 |
AT W T3 TS T FE R o
FAAE WA 0 9% e FE B A

TAAE WA § T 9% e FaEl 5 A

i 50 T e B H T 39 R =99 i

I

o
I ™
D) =TS
(I} F=Fe=

(IV) =fFast

[Question ID = 879][Question Description = 174_74_Women_studies_SEPT22_Q74]
1. (A)(D). (Bi-(1L), (Ci-(IIL). (D)-(IV)

[Option ID = 3513]

2. (A

=IV). (B)-(I). (C)-(IL), (D)-(I1L)

[Option ID = 3514]
3. (A)-(TID). (B)-(IV). (C)-(D. (D)-(ID)

[Option ID = 3515]
4 (AL, (B)-(I). (C)-(IV). (D)-(TID)

[Op

75)

tion ID = 3516]

Match List T wath List IT

Tast1
Coneept
(A) Work-famuly spillover D
(B) Gender typing i1T)
(C) Glassescalator (I1T)
(D) Human Capital Model (IV)

Last IT

Explanation
Subtle mechanismsz that enhance men's pozition
in a female dominated occupation.
Gendered attributes that earry over from roles in
both these Institutions,
Gender gap In wages based on perscnal or
individual choices in matters of education.
occupation and child bearing and reamng.
When majority of the workers in an oecupation
are those of one gender.

Choose the correct answer from the options given below:



-1
T ik
(A) FHE-OFEE e o=

(B) H=t ZEm
(C) T st

(D) HEE TH T

FEI-11
=T
(D TF GER TSR T UF el 79W =9EE § T F T

=1 "5 |

(I) 24 =H1 Bl o o E gEETHl H 0EiEd .-=1r-5.4'.'|—4_-u-1

(IIT) =il T S50 W= 4iS HeET oAt Ahdl § o2
ToreqT, =Ty vE o= e U O F SEel § BT E

(IV) TF =9ama | 79 FIH 1 Sedwal U 757 5 A |

44 o fawew § 1 HE 3 =99 i

[Question ID = 880][Question Description = 175_74_Women_studies_SEPT22_Q75]

T (AIV). (B)-(IID). (C)-«ID). (D)D)

[Option ID = 3517]

2. (AT, (B)-(IV) (C)=(Iy. (DH-(IIIH

[Option ID = 3518]
3. {AIV), (B)-(IOD), (C)y-(T), (D3-(IT)

[Option ID = 3519]

4. (A)-(IV). (By=(ID). (C)=(Th. (D)-{IID)

[Option ID = 3520]

76) Arrange the following in chronological order from earliest to latest:

{A) Janam Shishu Suraksha Karvakaram (JJSK)
{B) Rashtriya Kishor Swasthya Karyakram (RESK)
(C) Rashtriva Bal Swasthva Karvakram (RBSEK)
(D) Janam Suraksha Yojana (J2Y)

Choose the correct answer from the options given below ;

TETET 1 TR §WE o HEEE e

(A) T T A FEEE (FUETET)

(B)  dTa TReIR TEST S (ATEUEE

(C)  THE w7 =R wEE (ST )

(D) S T = ()

A= fou 70 faea 9 W WE 39 W =94 A
[Question ID = 881][Question Description = 176_74_Women_studies_SEPT22_Q76]

T (A) (B). (€) and (D) only

Fa= (A), (B). (0) #1 (D)
[Option ID = 3521]

2 (B}, (C). (D) and (A) only

e (B), (C), (D) 371 (A)

[Option ID = 3522]



3. (D), (A). (C) and (B) only

F=3 (D), (A), (C) 1 (B)
[Option ID = 3523]
4. (D). (B). (C) and (A) only
F77 (D). (B). (C) 37 (A)

[Option ID = 3524]

77)  Avrange the following in chronological order from earliest to latest:

(A) Sojourner Truth delivered her speech on behalf of women “"ain't T a wonman?”
(B)  The Stonewall uprising

(€ Formating of women's mghts groups. such as the National Organization for Women
(NOW)
(D) The All India Women's Conference (ATWC)
Choose the correct answer from the options given below !
=T =1 599 TEe 0 39 F FeEAEan 5 o
(&)  AETER ZF A A # AR 9 ain't [a woman? T SEH
(B) T =mAm AwmE

(D) Tz 31 sizar o= S (vEseg )

= f5n v el 8 | TE 39 F 999 i

[Question ID = 882][Question Description = 177_74_Women_studies_SEPT22_Q77]
1. (A) (B), (C) and (D) only

Fae (A). (B). (€) 517 (D)

[Option ID = 3525]
2. (A}, (B), (D)yand (C) enly

Fa9 (A). (B). (D) #i7(C)
[Option ID = 3526]

3. {A), (D) (C)and (B) only
Fas (A), (D). (C) =7 (B)

[Option ID = 3527]
4. (D). (C). (B)yand (A) only

F9+ (D). (C). (B) 31 (A)

[Option ID = 3528]



78 P : : i G,
) Put following women's organization in chronological ordey

(A) All India Women's Conference

(B) National Commission for Women
{(C) West Bengal Women's Umion

(D) Deszh Sevika Sangh

(E) National Council of Women in India

Cheose the correct answer from the options given below :

Ir"“-"lirf"ﬂr'gd J-Ilrn!.!"ll J:'I‘J'ﬁ"ri ﬂ FTeTHRHTTHIT wH ﬁ fl'_'ﬂg
(A) 37 T g FEE

(B v FHER A

(C)  F=ETe T A

(D) =9 "= A5

(E) 99 FSEe o 5 = s

= Tou T Twed © 9 TR I W 99 i

[Question ID = 883][Question Description = 178_74_Women_studies_SEPT22_Q78]
1. {A), (B). (C), (D) and (E) only

Fa7 (A), (B). (C), (D) 37 (E)

[Option ID = 3529]
2. {E). (A). (D), (C) and (B) only

= (E). (A). (D). (C) =i (B)

[Option ID = 3530]
3. (), (D), (B), (A) and (E) only

F37 (C). (D). (B). (A) 57 (E)

[Option ID = 3531]
4. (A), (C), (D), (E) and (B) only

Fa (A). (C). (D), (E) =7 (B)

[Option ID = 3532]

79) Arrange the following variants of Women and Development approach in sequence
(A) Equity Approach (B) Empowerment Approach
(C) Welfare Approach (D) Efficiency Approach
Choose the correct answer from the options given helow :

(A) T g
(B) R SIER
(C)  =Feam F';iE-ﬁ-IU]

(D) e Fewm

/= fau T fawedl 5§ § o9 39 1 99 S



[Question ID = 884][Question Description = 179_74_Women_studies_SEPT22_Q79]
1. (B). (D). (C) and (A) only

Fae (B). (D), (C) 37 (A)

[Option ID = 3533]
2. (C). (A), (D) and (B) only

a9 (C). (A). (D) =7 (B)

[Option ID = 3534]
3. {A). (B). (C) and (D) only

a1 (A). (B). (C) 5w (D)

[Option ID = 3535]
4. (D), (B), {A) and (C) only

F97 (D). (B). (A) =17 (C)

[Option ID = 3536]

80) Arrange the sequence of the legislations according to the vear of their enactment
(A) The Indecent Representation of Wonen (Prohibition) Act
(B) The Dowry Prohibition Act
{(C) The Immoral Traffic (Prevention) Act
(D) Protection of Women from Domestic Violence Act
Choose the correct answer from the options given below :

(A)  Te ARz s AT A (TR ), T
(B) Tz = wifEEE

(C) & zmme Zives (TE=m) e

i Tou 70 Taed § H HE 39 9 99T FIE
[Question ID = 885][Question Description = 180_74_Women_studies_SEPT22_Q80]
1. (C). (B). (A) and (D) only
Fa9 (0). (B). (A) 317 (D)

[Option ID = 3537]
2. {A), (C) (D)yand (B)only

=9 (A). (C). (D F1 (B)

[Option ID = 3538]
3. 4(B). (A). (C) and (D) only

%= (B), (A). (C) 71 (D)

[Option ID = 3539]
4. (D). (C). (B) and (A) only

F4e (D). (C). (B) 3T (A)



[Option ID = 3540]

81) Arrange the following National Commission for Women chairpersons in chronological order

(A) Ms. Vibha Parthasarthi

(B} Ms. Lalitha Kumaramangalam
() Ms. Jayanti Patnaik

(D) Dr. Poormima Advami

Cheoze the correct answer from the options given below :
T O FHEA SF I F A T FEEEaE 75 §
(A) T T wemEm
(B = =i FAEeTEe
(€) & T T=AEF

D) =1 gfumr s

4= fov 7 ToFeT § O oE 39 9 =99 i
[Question ID = 886][Question Description = 181_74_Women_studies_SEPT22_Q81]
1. (B (C), (A) and (D) only

Fae (B), (C). (A) 317 (D)
[Option ID = 3541]

2. (C), (A), (D) and (B) only
#F49 (C), (A), (D) ¥ (B)
[Option ID = 3542]

3. {A), (B}, (C) and (D} only
a1 (A). (B). (C) =1 (D)
[Option ID = 3543]

4. (D). (C). (B) and (A) only

a1 (D), (C). (B) 9T (A)

[Option ID = 3544]

82 ] z s . i !
) Arrange the following schemes 1n chronological order by yesar of mception starting from the

earliest to the latest

(A) National Nutrition Policy

(B) Mahila Samakhyva Scheme

Q) Eishort Shakti Yojana

(D) Wational Policy for Empowerment of Women

Choose the correct answer from the options given below :



Frfeiign AT 1 95 € 9 F 99 F FeEAEn =
(A) T T

(B)  Hizen SmmEE 95

(C)  TFom ori =

1D, FR ,JE.'J %{F{U :', s

R o o et e o e e o 2
[Question ID = 887][Question Description = 182_74_Women_studies_SEPT22_Q82]
1. {A). (B). (C) and (D) only

4 (A). (B). (C) 3T (D)

[Option ID = 3545]
2. (B), (A). (Dyand (C) only
= (B). (A). (D) = (C)
[Option ID = 3546]
3. (B).(A) (C) and (D) only
Fae (B). (A). (C) 317 (D)
[Option ID = 3547]
4. (A), (D), (B)and (C) onlv
Fa (A). (D). (B) 417 (C)
[Option ID = 3548]
83) Arrange the following schemes chronclogically according to the vear (from the earliest to the
latest) which they were adopted
(A) Swadhar
(B) Mahila Shakti Kendra
() EBet1 Bachao Beti Padhao
(D) One Stop Centre Scheme

Choose the correct answer from the options given below :

FEftEd e ANEAn (TR | wE) 5 3 S T T A, R AR S

(A) =W
(B) ©fe= ot ¥
(C) =&t =i =2 ugien
(D) =7 =i # A
Hi fau T e A SE S E 99 F
[Question ID = 888][Question Description = 183_74_Women_studies_SEPT22_Q83]

1. {A). (B), (C) and (D) only

e (A), (B). (C) 31 (D)

[Option ID = 3549]
2. (D), (C). (B) and (A) only



e (D), (C), (B) 371 (A)
[Option ID = 3550]
3. {A) (©). (D) and (B) only
e (A), (C). (D) 51 (B)
[Option ID = 3551]
4. (A), (D). (B) and (C) only
A (A), (D), (B) 31 ()
[Option ID = 3552]
84) Arrange the following levels of equality/empowerment specified by Sara Longwe in her
Women's Empowerment Framework in ascending order

(A Control

(B) Participation

() Conscienfizsation
Dy Access

Choose the correct answer from the options given below :

AT S R AT gHE SUTERHE BEEE § aiG HEET

HITTFE % TR A H S 6§ o
(A fEEm

(B)  =EEIE

(C)  wtha=m A

D) ==

I/ fau T fawel ® 9 99 39 1 994 S

[Question ID = 889][Question Description = 184_74_Women_studies_SEPT22_Q84]
1. {A). (B). (C) and (D) only

47 (A), (B), (C) 7 (D)
[Option ID = 3553]
2. (D). (C). (B) and (A)only

Fa=7 (D), (C). (B) 31T (A)

[Option ID = 3554]
3. (A). (D), (B)and (C) only

Fae (A), (D). (B) 3717 (0)

[Option ID = 3555]
4. (D). (B). (&) and (C) only

F9= (D). (B). (A) =7 (C)

[Option ID = 3556]



85)  Arrange the following in the chronclogical sequence :

() Vishaka Guidehnes
(B) The Protection of Children from Sexual Offences Act

{C) Sexual Harassment of Women at Workplace (Prevention. Prohibition and Redreszal)
Act

(D) CEDAW

Choose the correct answer from the options given below :
TAATER B FREEEEE FH 5 S
(A)  TEmE e
(B)  TEIES A0S A § S H e
(C) e At w1 4 s (e, g vd ) it
(D) #HEidinz=

= fou o Tl © B wE == w = Fa

[Question ID = 890][Question Description = 185_74_Women_studies_SEPT22_Q85]
1. (A). (B). (C) and (D) enly

w4 (A). (B). (0) 311 (D)

[Option ID = 3557]
2. (B}, (C). (D) and (A) only

Fa= (B). (C). (D) 47 (A)

[Option ID = 3558]
3. {(C).(D). (A) and (B) only

= (C). (D). (A) 51 (B)
[Option ID = 3559]
4. (D). (A). (B) and (C) only
F== (D). (A). (B) #F (Q)

[Option ID = 3560]

86) Given below are two statements: about good research question.

Statement I : Developing & well articulated guestion is essential because it defines the
research project. set boundaries. gives direction and acts as a frame of
reference for assessing the research work

Statement II Good research question need not be right to vou. right to field but need to
be well articulated do able and get the tick approval from the experts.

In the light of the above statements. choose the most appropriate answer from the options
given below



E 15 e e 750 = B D) ot o= e 1 b e s o

74 FAE B, 1590 WG AT AR W HE o gearha F o0 559 T 6 w9 0 w5
T 2|

I i e # A EE AT
IUE FAA F AT §, A 50 T 8 F W6E IR S R =9 S0
[Question ID = 891][Question Description = 186_74_Women_studies_SEPT22_Q86]
Both Statement I and Statement IT are correct

Foa ] AR OeE a5 =
[Option ID = 3561]
Both Statement I and Statement II are incorrect

T 1 mﬂﬁ‘lﬂﬂ%

[Option ID = 3562]
Statement I is correct but Statement I1 is Imcorrect
FoA 1 w4l 2, A %99 117 7
[Option ID = 3563]
Statement L1 incorrect but Statement I 15 correct
Fu [ 7oA 7, =i e I AE R

[Option ID = 3564]

87 ; .
) Given below are two statements:

Statement I ; Axial Coding 1 the step thai allows researchers to connect diffevent codes
identified into categories and sub categones.

Statement IT:  Axial coding is the step that allow the rezearcher to find themes.

In the light of the ahove statements. choose the most appropriate answer from the options
given below

o~

1 21 H TS0 T F: T T RS § W HA-A] SEE gokea (U HisT) b an g g6 27
I FAI A B, SH OASA F A 7

For 11 ; i1 T TR = & R Al F =9 (4) FWE FH A 5

I FYA AT H, A4 50 T e § H weE I 39 = A

[Question ID = 892][Question Description = 187_74_Women_studies_SEPT22_Q87]
1. Both Statement I and Statement IT are true

g I i I ol 58 2
[Option ID = 3565]

2. PBoth Statement I and Statement IT are false



[Option ID = 3566]
3. Statement I is true but Statement IT 1= falze
F 1 T8 7, A e I e B

[Option ID = 3567]

4. Statement T is false but Statement I i= true

Feg 1 Tea 7. @A wag D59 7
[Option ID = 3568]

88) (iven helow arve two statements: one is labeled as Assertion A and the other is labeled as
Reason R

Assertion (A):  Gender-specific laws vather than genderneutrdl laws are betier able to
secure equality between the sexes.

Reasons (R) : If we deny all differences. as the women's movement has so often done. we
deflect attention from the disadvantages women have.

In the light of the above statements. choose the most approprate answer from the options
given below

= 71 oA TE o #: wE afiwe (Assertion A) F ¥ T fafad 2 @1 751 39F FE0T (Reason R) F

':Fl'f'qa-ﬂ-l L‘%.) . —.r:":‘:. GELES| EFF;]_:H 75'[ -ﬂ;:fa:ﬂ' 3“5,3153'1:1'2,_ T:FFE'q {E_V'Fﬁ fw} % e Hﬁ%ﬁ Eﬁ’i
F (R) : afz =9 T TAEE W T WA B, SEITF REEE & A G S A A,
A 78 TH Frae Bl B A S w2

T FA F OATEE °§, A 0T T A # OeE I S0 R wEA A

[Question ID = 893][Question Description = 188_74_Women_studies_SEPT22_Q88]

' Both (A) and (R) ave correct and R is the corvect explanation of A

(A) #AT (R) oF1 =1 2 {10 (R), (A) 0 =9 = 2

[Option ID = 3569]
2. Both (A) and (R) are correct but R 1z NOT the correct explanation of A

(A} 317 (R) =41 971 2, = (R). (A) i 58 =me =8 2

[Option ID = 3570]
3. {A) 1= correct but (R) 1s not correct

(A)=FT # =FA (R) 97 94 2

[Option ID = 3571]
4. (A) 12 not correct but (R) 1s correct

(A) = 471 7 =i (R) 981 2

[Option ID = 3572]



89)  Given below are two statements: one is labeled as Assertion A and the other is labeled as

Reason R
Assertion (A):  Sexlsm causes immeasurable harm to people.
Reasons (R) : An assertive woman 1s called “pushy” or “bitchy”. while an assertive man 1s

promoted: an ageing woman iz called a “witch”. while an ageing man 1s
called a “silver fox” and can still have an acting career well into his G0s.

In the light of the above statements. choose the most appropriate answer from the options
given bhelow

4= 71 FoF 5o 7w F: v wiuFYE (Assertion A) # ®9 § =iEd & Al AT FHE % F17 (Reason R) &+
=99,
Al (A) ;. HiEEes (dHEmE) S E A9 A 9 2

r = r . i 3 - = 5 o
T E, T 6 9E 98 T H S T S W FREE FE T T 7

IPTE FAH F A W, A G 0 @S § H e S S H =9 i

[Question ID = 894][Question Description = 189_74_Women_studies_SEPT22_Q89]

" Beth (A) and (R) are correct and R is the correct explanation of &

(&) s (B) 7 & 4 (B), (A) A W = 3
[Option ID = 3573]
2. Both (A) and (R) are correct but R 1s NOT the correct explanation of A
(A) 3 (R) 391 B 3, A (R), (A) F 5 = 74

[Option ID = 3574]

3. (A} is correct but (R) is not correct
(A) TF1 2 A (R) 781 795 2
[Option ID = 3575]
4. (A) 1z not correct but (R) is correct
(A) = 771 2 =% (R) 571 2
[Option ID = 3576]
90) . . ; : ;
Given below are two statements: one 1s labeled as Assertion A and the other 12 labeled as
Reason R
Assertion (A):  Teachers socialize girls towards a femumine ideal. Girls are praised for
being neat. quiet and calm. whereas bovs are encouraged to think
imdependently. be active and speak up.
Reasons (R) : By following this teachers’ prevent reproducing =2ocial ineguality.

In the light of the above statements. choose the most appropriate answer from the options
given below



4= 71 99 oo 0 F: v AMFSE (Assertion A) % =9 4 feihgd £ Al THT 34 % %17 (Reason R) +
o

ahwEyE (A):  Toers sl & v fRaiEa e W e § meTsiEew W # | oSl A m-
T, I AW A== & o, WUET i AA 5, FEE s B a5 " e,

afEa 75 3T SE 91 e % e UieEliE e e

w0 (R) - ST T H (A HIETAE STEAE e sl e |

I FUA F AW 5, A 5 T e 5 ® e 39 3 S = i

[Question ID = 895][Question Description = 190_74_Women_studies_SEPT22_Q90]

1.

Both (4) and (R) arve correct and R i1s the éorrect explanation of A

(A) 3 (R) =7 =51 37 (R), (&) 1 =# =mwe 3

[Option ID = 3577]

2. Bath (A) and (R) are correct but R is NOT the correct explanation of A

3.

4.

(A) 37 (R) =1 T8 2, = (R). (A) 1 57 =3wen 5 8

[Option ID = 3578]
(A} 1= correct but (R) 18 not correct

(A) 57 2 =T (R) 991 981 2

[Option ID = 3579]
{A) 18 not eorrect but (R) 18 correct

(A) 7 7 2 =14 (R) 51 2

[Option ID = 3580]

Topic:- 074_SEPT22_S1_PartB

1)

Read the following passage and answer the Question;

During the 1970z, black feminist scholar-activitists. and a number of who were also LGBTQ.
developed theoretical frameworks to serve az a model for other women of color, to broaden
feminism’'s definition and scope. The theorv of those systems became known as nter-
sectionality. a term popularized by EKimberié Crenshaw. In her 1991 article “Mapping the
Marging”, she explained how people who are “both women and people of color” are
marginalized by “discourses that are shaped to respond to one [identitv] or the other.” rather
than both. To take an example. they explain. think of an LGBT African-American woman
and a heterosexual white woman who are both worlang class. They “do not experience the
same levels of discrimination. even when they are working within the same structures that
may locate them as poor. Failing to acknowledge this complexity. scholars of intersectionality
avgue, is failing to acknowledee reality. The care of intersectionality then, they 2ay. is coming
to appreciate that all women do not share the same levels of discrimination just because they
are Women.

To many conservatives. Intersectionality means “hecause yvoure a minority. vou get special
standards, special treatment 1n the eves of some.” It “promotes solipsism at the personal
level and division at the =zocial level.” Intersectionality i1s thus “really dangerous” or a
“conspiracy theory of victimization”. But Crenshaw said that contrary to her crities”
objections. Intersectionality 1sn't "an effort to create the world in an inverted image of what 1t
iz mow”, Rather, she said. the point of intersectionality 1= to make room “for more advocacy
and remedial practices” to create a more egalitarian svstem.



1.

VAT AMEE] AT — FEFATA A FTER A, A UL LT | 9, 1970 F w00 % i AnEn
F1 afvam {7 ST (ZEET) W OSTE §9E F 3604 § T Gi5d ad FAd 0 Agiiow s9iEm
fewlam =1 | 29 woniedl & [Ggia F1 Foud 4riEar  (SEawEEel ) +oug 9w =9 AE T, e
TFoTe 91 3 ST 9T | 369 1901 § 3 wE- O £ 9iEen O 999 Fen = e e =
ToHeT GW Himenw AN SvEE SN GFl 1 EE W ehe W] 7, T 21 % S (9EEE) A
F U A T AR B WA 2 | Send, 9 Faal B TR TR e AL, sfee - i afEer sl
UEF&NTIT-‘ITIT‘JEIFIHFF’IT?HFTTW TmmﬁﬁiijTWmmﬁwﬁw
Bl d 31 SraAAl % S FE O TR 5, A I Hed % &Y 5 Ay 1 SEd 7 | 56 A w5 a6
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F T W TR F1 A1 2 16 HiEeT ged SHe HEE T 6 9591 9150 95 Fl w@iE 9  Een #
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AT 51 2 7| SH YRR, SAHETIEAT AR § e 91 "Seiied U TS Egid & | S e |
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The approach of viewing race and gender as mutually exclusive categories of experience and
analyvsiz implies;

FaHa A faver i grEiE =Y " 59 40T F w9 B 9 31T At S 2@ B 39 2

[Question ID = 896][Question Description = 191_74_Women_studies_SEPT22_Q91]
A Single-axs framework

[Option ID = 3581]

2. TUnderstandings of identity that are more complex

UEEE 1 HESE, A1 A9 A2 Bl 2

[Option ID = 3582]

3. Intersectional approach

[Option ID = 3583]

4. MNuludimensionality approach

[Option ID = 3584]



2)

Read the following passage and answer the Question:

During the 1970s, black feminist scholar-activitists. and a number of who were also LGBTQ.
developed theoretical frameworks to serve as a model for other women of color, to broaden
feminism's definition and secope. The theory of those systems became known as inter-
sectionality. a term popularized by Kimberié Crenshaw. In her 1991 article “Mapping the
Marging”, she explained how people whe are “both women and people of color” arve
marginalized by “discourses that are shaped to respond to one [identits] or the other.” rather
than both. To take an example. they explain, think of an LGBT African-American woman
and a heterosexual white woman who are both working class. Theyv “"do not experience the
same levels of discrumination. even when they are working within the same structures that
may locate them as poor. Failing to acknowledge this complexity. scholars of intersectionality
argue, 1s failing to acknowledze reality. The core of intersectionality then, they gayv. is coming
to appreciate that all women do not share the same levels of dizcrimination just because they
are women.

To many conservatives. Intersectionality means "because vou're a minority. vou get special
standards, special treatment in the eves of some.” It "promotes solipsism at the personal
level and division at the =ocial level.” Intersectionality is thus “really dangerous” or a
“conspiracy theory of victimization”. But Crenshaw said that contrary to her crities”
objections. intersectionality 1sn't "an effort to ereate the world in an inverted image of what 1t
iz mow’". Rather. she zaid. the point of intersectionality 15 to make room “for more advocacy
and remedial practices” to create a more egalitarian svstem.

TreAieatas = i aE S U W 3 S |
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ﬁm-mwﬁamawﬂmmmimﬁéﬁa:zrﬂmwmqm%|Hﬁrazh—g—rrn-ﬁﬂmﬁtrrrﬁam
F uH I T F A 2 T aiEaw ge9 s 99E = w6 959 910 95 F a9iE 9 e E |

A0 H WM (=9 9, 9 RN U R | 9F SR S W SARHEE SN HE S W EE
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e TR T TSR R AR F B SeEenia o SIerhE o 9 39 fava oF e w uE

Some people include Black women in either “Blacks™ or "womien”, such perspective:

(A) Ignores hlack women's experience

(B)  Broadens feminist analysis

() Encourages an intersectional approaches

(D) Ignores the multidimensionality of Black Women's experience

Choose the correct answer from the options given helow :



Fy #N AT HiEenAl H A HqTAT F1 HiEeANe  FHien A 7, 39 TR R

(A) ¥R AlEA F T F 94 FE 2

(B)  FFEE EHIETw F =00F §46

(C)  STAESTIE IS S A A
(D) 7R TiEeAl F T T A AAEA o SET A 7

1= fom o EEET B O TE I o 9 i

[Question ID = 897][Question Description = 192_74_Women_studies_SEPT22_Q92]

1.

4.

3)

(A). (B) only

Fa+1 (A). (B)

[Option ID = 3585]

(A), (C) only

a4 (A), (O)

[Option ID = 3586]

tA) (D) only

Fa (A), (D)

[Option ID = 3587]
iB). (C) only

F54 (B), (C)

[Option ID = 3588]

Read the following passage and an=swer the Question;

During the 1970s, black feminist scholar-activitists. and a number of who were also LGBTQ.
developed theoretical frameworks to serve as a model for other women of color, to bhroaden
feminiem’s definition and scope. The theorvy of those systems became known as Inter-
sectionality., a term popularized by Kimberié Crenshaw, In her 1991 article “MNapping the
Marging”. she explained how people who are “both women and people of color” are
marginalized by “discourses that are shaped to respond to one [identitv] or the other.” rather
than both. To take an example. they explain. think of an LGBT African-American woman
and a heterosexual white woman who are both working class. Theyv “do not experience the
same levels of discrunination. even when thet are working within the same structures that
may locate them as poor. Failing to acknowledge this complexity. scholars of intersectionality
argue, iz failing to acknowledze reality. The core of intersectionality then, they 2ay. is coming
to appreciate that all women do not share the same levels of dizserimination just because they
are Wolnen.

To many conservatives: Intersectionality means “hecause you're a minority. vou get special
standards, special treatment in the eves of some.” It “promotes solipsism at the personal
level and division at the =zocial level.” Intersectionality i1s thus “really dangerous” or a
“conspiracy theory of wvictimization”. But Crenshaw said that contrary to her critiez”
objections: intersectionality 1sn't "an effort to create the world in an inverted 1mage of what 1t
iz now’. Rather. she 2aid. the point of intersectionality is to make room “for more advocacy
and remedial practices” to create a more egalitarian svstem.
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F1 afvam {7 ST (ZEET) W OSTE §9E F 3604 § T Gi5d ad FAd 0 Agiiow s9iEm
fewlam =1 | 29 woniedl & [Ggia F1 Foud 4riEar  (SEawEEel ) +oug 9w =9 AE T, e
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What do we mean by intersectionality?

(A) Interlocking syvstems that define women's lives.

(B) The way that people’s social identities overlap. ereating compounding experiencesz of
discrimination

(Cy Al gppression 1= linked

(D)  Woman iz a catchall catezory that alone defines all our relationships to power

Choose the correct answer from the options given below :

FAR AT H = A 27

(A)  SFEIER T, S AR F A=A FOTRE B

(B) = T, (A TS SEEE T HATE S S A TR A A A |
(C) FHTFETEgEE? |

(D) e v S s () e B, 1 s i e e e w2
S foo o fweT B H wA I 6 99 Fa

[Question ID = 898][Question Description = 193_74_Women_studies_SEPT22_Q93]
1. (A). (B) and (C) only

T (A). (B) 97 ()

[Option ID = 3589]
2. (A). (B)yand (D) only

a9 (A), (B) =7 (D)

[Option ID = 3590]
3. (B).(C) and (D) only

=37 (B). () 1 (D)

[Option D = 3591]
4 (A). (C) and (D) only

=g (A). (€) 5 (D)
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4)

ption ID = 3592]

Read the following passage and answer the Question:

During the 1970s, black feminist scholar-activitists. and a number of who were also LGBTQ.
developed theoretical frameworks to serve as a model for other women of color, to broaden
feminism's definition and scope. The theory of those systems became known as inter-
sectionality. a term popularized by EKimberié Crenshaw, In her 1891 article “"Mapping the
Marging”, she eéxplained how people whe are “both women and people of color” are
marginalized by “discourses that are shaped to respond to one [identits] or the other.” rather
than both. To take an example. they explain, think of an LGBT African-American womman
and a heterosexual white woman who are both working class. Theyv “do not experience the
same levels of discrimination. even when they are working within the same structures that
may locate them as poor. Failing to acknowledge this complexity. scholars of intersectionality
argue, 1s failing to acknowledze reality. The core of intersectionality then, they say. is coming
to appreciate that all women do not share the same levels of dizcrimination just because they
are women.

To many conservatives. Intersectionality means “because vou're a minority. vou get special
standards, special treatment in the eves of some.” It “promotes solipsism at the personal
level and division at the social level.” Intersectionality is thus “really dangerous” or a
“conspiracy theory of victimization”. But Crenshaw said that contrary to her crities”
objections. intersectionality 1sn't "an effort to create the world in an inverted image of what 1t
1= mow’. Rather. she zaid. the point of intersectionality is to make room “for more advocacy
and remedial practices” to create a more egalitarian svstem.
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For conservatives and detractors the intersectional approach:

{A) Promotes solipsism.

(B) Special treatiment to minorities.

(C) Builds a racial hierarchy with black women at the top.
(D) Broadens feminizm's definition and scope.

Choose the correct answer firom the options given below :



=l AT SR F A R 5§ AEEE SR 3

(A)  HEATER F sEE oA e

(B)  =9EETE # WiE 999 =ann A 2 |

(C)  =7vea Hieel 1 A0 T TE0 50 =i USEEA 1 [E e E |
(D) =i i a5 S 5 =eE a= e |
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[Question ID = 899][Question Description = 194_74_Women_studies_SEPT22_Q94]

1.

2.

3.

4.

5)

(A). (B) and (C) only

#ad (A). (B) 317 (C)

[Option ID = 3593]
(A), (B) and (D) only

a9 (A). (B) # (D)

[Option ID = 3594]
(A). (€) and (D) only

Fa9 (A). (C) 317 (D)

[Option ID = 3595]
(Bl (C)and (D) only

=&+ (B). (C) =7 (D)

[Option ID = 3596]

Read the following passage and answer the Question:

During the 1970s, black feminist scholar-activitists. and a number of who were also LGBTQ.
developed theoretical frameworks to serve as a model for other women of color, to broaden
feminism's definition and secope. The theory of those systems became known as inter-
sectionality. a term popularized by Kimberié Crenshaw. In her 1991 article “Mapping the
Marging”, she explained how people whe are “both women and people of color” are
marginalized by “discourses that are shaped to respond to one [identits] or the other.” rather
than both. To take an example. they explain. think of an LGBT African-American woman
and a heterosexual white woman who are both working class. Theyv “"do not experience the
same levels of discrimination. even when thev are working within the same structures that
may locate them as poor. Failing to acknowledge this complexity. scholars of intersectionality
avgue, is failing to acknowledge reality. The care of intersectionality then, they say. is coming
to appreciate that all women do not share the same levels of dizerimination just because they
are women.

To many conservatives. intersectionality means “hecause youre a minority. vou get special
standards, special treatment 1n the eves of some.” It “promotes solipsism at the personal
level and division at the =ocial level.” Intersectionality is thus “reallv dangerous” or a
“conspiracy theory of wvictimization”. But Crenshaw said that contrary to her crities”
objections. intersectionality isn't "an effort to ereate the world in an inverted image of what 1t
iz mow". Rather. she zaid. the point of intersectionality 1s to make room “for more advocacy
and remedial practices” to create a more egalitarian svstem.
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Given helow are two statements: one is labeled az Assertion A and the other is labeled as
Reason R

Assertion (A) : Black women are sometimes excluded from feminist theory and antiracist
policy discourse because both are predicated on a discrete set of experience
that often does not accurately reflect the interaction of race and gender.

Reasons (R): Black women's experience with the single-axis analysis truly captures
thelr experiences.

In the light of the above statements. choose the most appropriate answer from the options
given below

4 = FYF 50 T E: v ST (Assertion A) =4 ® &g # 71 790 39+ F77 (Reason R)
=75

AreweE (A): HATEA HEenAl F wd-w aEd g Gn we-aad fitg 3 e @ w o
TETF &7 § WAt T6 i R |
Fm (R) : YA HiEem Al F Uhe i [Aven F Mg SEEE S A999 59 o ° 0

= 2

U YA F A H, A W0 e § H e I 59 R S R

[Question ID = 900][Question Description = 195_74_Women_studies_SEPT22_Q95]

1.

2.

3.

Both (A) and (R) are correct and R 1s the correct explanation of A

(A) 3% (R) =41 |81 7 31 (R), (A) 1 g8 =mve &

[Option ID = 3597]
Both (A) and (R) are correct but R 1s NOT the correct explanation of A

(A) &7 (R) 341 w71 2, = (R). (A) %1 97 =men 77 2

[Option ID = 3598]

{A) 1= correet but (R) 1s not correct



4.

(A) 7T 2 @ (R) w71 74 2

[Option ID = 3599]
{A) 1= not correct but (R} 1s correct

(A) 7= 79 & 7 (R T 7

[Option ID = 3600]

Topic:- 074_SEPT22_S1_PartC

1)

Read the following passage and answer the question :

Globally 2.4 hillion people live without access to improved sanitation. Locking at the
sanitation problems in India's. it's evident that women and girls bear'a higher burden than
men. The inequities suffered by women in rural or urban settings, affects them biologically.
soclally and economically. The areas where impact of poor samtation is elearly visible are —
menstrual hygiene and sanitation issues as barriers to school attendance of girls. areas
where women work under poor/no sanitation facihities. under-nourishment and dehyvdration
among pregnant women and new motherz and children’s health during first 1000 days. The
ahzence of safe and separate sanitation facihties iz one of the kev factors preventing givls
from attending school. particularly during menstruation. '

Women arve often vulnerable to harassment or violenece when they use sharved toilets, or
practice open defecation. The shame and indizmity of defecating in the open affects their self-
esteem, Several women wait to relieve themselves after the sun-set and conzume less food
and water to delay the need to relieve them which leads to health problems. Poor access to
safe water and sanitation can have profound 1mmipacts for women and givls,

A lot of initiatives have been taken towards building toilets in schools. health centers.
villages etc. But only building toilets 1s not encugh, demand should also be generated
through social hehaviour and change In communication strategies.

Access to water. hyvgiene and adeguate samitation are fundamental human rights. There iz a
serious need to ignite behaviour change.

Therefore, direct Imvolvement of women in the planning and management of sanitation
programs is important. Hyglene promotion interventions are to be designed considering
women and givls issues as priovity. Enowledge/solution exchange Initiatives programs from
other countries and implementation of successful and cost effective technologies are
important.
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The delay on part of women for the need to relieve themselves leads to:

{A) Gestational Diabetes Mellitus
(B) Anemia

(Cy Urinary tract infections

(D) Hypothyroidism

Choose the correct answer from the options grven below :

TEA T AT F o At F g Ao 3 30 B 2

(A) I SRR Higed
(B)  uf=EEn
(Cy  gu=T 2 FHEaH

-

{Dy EES a-'—_:-:

11 AR L8 e = 2 i e e e 0 oo e 1 LA
[Question ID = 901][Question Description = 196_74_Women_studies_SEPT22_Q96]
1. {A)and (B) only
Fae (A) #1 (B)

[Option ID = 3601]
2. (B)and (C) only



4.

2)

Fa= (B) =7 (C)

[Option ID = 3602]
- {C) and (D) onlx

Fae (C) 31 (D)

[Option ID = 3603]
(D) and (A) only

Fae (D) 7 (A)

[Option ID = 3604]

Read the following passage and answer the question ;

Globally 2.4 billion people live without access to improved sanitation. Looking at the
sanitation problems in India's. it's evident that women and girls bear a higher burden than
nien. The 1nequities suffered by women in rural or urban settings, affects them biologically.
socially and economically. The areas where impact of poor sanitation is clearly visible are —
menstrual hyvgiene and sanitation issues as barriers to school attendance of girls. areas
where women work under poor/no sanitation facihities. under-nourishment and dehydration
among pregnant women and new mothers and children’s health during first 1000 days. The
absence of safe and separate sanitation facilities is one of the kev factors preventing givls
from attending school. particularly during menstruation. '

Women are often vulnerable to harassment or violence when thev use shared toilets, or
practice open defecation. The shame and indignity of defecating in the open affects their self-
esteem, Several women wait to relieve themselves after the sun-set and consume less food
and water to delay the need to relieve them which leads to health problems. Poor aceess to
safe water and samtation ean have profound impacts for women and gils,

A lot of initiatives have been taken towards building toilets in schools. health centers,
villages etc. But only building toilets 1s not ensugh, demand should alzo be generated
through soeial behaviour and change in communication strategies.

Access to water. hygiene and adeguate samtation are fundamental human rights. Thereiz a
serious need to ignite behaviour change.

Therefore, divect imvolvement of women in the planning and management of sanitation
programs is Important. Hyglene promotion interventions are to be designed considering
women and givls issues as priority, Enowledge/zolution exchange nitiatives programs from
other countries and Implementation of suceessful and cost effective technologies are
important.
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Given below are two statements: one is labeled az Assertion A and the other 1= labeled as
Reason R

Assertion (A):  Access to water, hygiene and adequate sanitation are fundamental human
rights.
Reasons (R) : Direct involvement of women in the planning and management of

ganitation programs is unportant,

In the light of the above statements. choose the most appropriate answer from the options
eiven below

i o FYA 50 0 7 T Si9wEA (Assertion A) ® =0 4 fiEa & Al Fahs ¥ F (Reason R) ¥
=] 4;

ATFEA (A) U, TR U AT gl gl Giierd 9 A
F0r (R) TeAT HEFE i AEEA U9 THEA § SRl # Uedd =9 5 aEe e Teey
3

T FYA F AT °, A= 50 0 e § H e I S ] =9 s
[Question ID = 902][Question Description = 197_74_Women_studies_SEPT22_Q97]
Both (A) and (R) are correct and R is the correct explanation of A
(A) 37 (R) 541 "1 2 4 (R), (A) =1 = =z 2

[Option ID = 3605]



2. Bath (A) and (R) are correct but R 1s NOT the correct explanation of A

3.

4.

3)

(A) #1 (R) 271 =81 2, =6 (R). (A) i 7 samsan 76 2

[Option ID = 3606]
{A) 1s correct but (R} 1s not correct

(A)TH 2 = (R =21 941 7

[Option ID = 3607]
{A) 1s not correct but (R) 1s correct

(A)TE 79 7 =i ((R)y =9 =

[Option ID = 3608]

Read the following passage and answer the guestion :

Globally 2.4 hillion people live without access to improved sanitation. Locking at the
sanitation problems in India's. it's evident that women and girls bear a higher burden than
men. The ineguities suffered by women in rural or urban settings, affects them biologically,
socially and economically. The areas where impact of poor samitation is elearly visible are —
menstrual hygiene and sanitation issues as bamiers to school attendance of girvls. areas
where women work under poor/no sanitation facihities. under-nourishment and dehydration
among pregnant women and new motherz and children’s health during fivst 1000 days. The
ahzence of safe and separate sanitation facihties iz one of the keyv factors preventing givls
from attending school. particularly during menstruation. '

Women arve often vulnerable to harassment or viclence when they use sharved toilets, or
practice open defecation. The shame and indismity of defecating in the open affects their self-
esteem, Several women wait to relieve themselves after the sun-set and consume less food
and water to delay the need to relieve them which leads to health problems. Poor access to
safe water and samtation ean have profound mmpacts for women and givls.

A lot of initiatives have been taken towards building toilets in schools. health centers.
villages etc. But only building toilets 1= not ensugh, demand should also be zenerated
through social hehaviour and change in communication strategies.

Access to water, hvgiene and adeguate =anitation are fundamental human rights. There is a
serious need to iznite behaviour change.

Therefore, direct Imvolvement of women in the planning and management of sanitation
programs is Important. Hygiene promotion interventions are to be designed considering
women and givls issues as priovity. Enowledge/solution exchange Initiatives programs from
other countries and implementation of successful and cost effective technologies are
important.
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Which of the following are considered as an element for the successful implementation of the
programmie of Sanitation and Hygiene?

(A) Programmes to be designed. considering the need of women and girls

(B) Cost effective technologies

() Women's mandatory participation in planning and management of the programnie
(D) Non-exchange of knowledge and initiative programs from other countries

Choose the correct anawer from the options given below ;

=l Td R F FEFA] § AFAaSF FE-EE F o FEiiEn § | T vF e ® ail W e
E A

(A)  wfeens 3 i T=E F SR TEEE F A =

(B) = T T

(C) /a1 AFEET U8 THEH § BiEAsl i dAEaE =9 ° aRgr

(D) =9 =9 ¥ TH 9 S9FT FEEET WO AT 354

Hra Tow 0, fEeRedl B H TRl 300 w1 =5ET i

[Question ID = 903][Question Description = 198_74_Women_studies_SEPT22_Q98]
tA). (B) and (C) only

A (A), (B) #=7(C)

[Option ID = 3609]



2.

3.

4.

4)

(B), (C)and (D)) only

=4 (B), () 3117 (D)

[Option ID = 3610]
(C). (D) and (A) only

Fae (C), (D) #17 (A)

[Option ID = 3611]
(D) only

Fa7 (D)

[Option ID = 3612]

Read the following passage and answer the question :

Globally 2.4 billion people live without access to improved sanitation. Locking at the
sanitation problems in India’s. 1t's evident that women and girls bear a higher burden than
nien. The inequities suffered by women in rural or urban settings. affects them biologically.
socially and economiecallv. The areas where impact of poor sanitation is clearly visible are —
menstrual hygiene and sanitation issues as barmriers to school attendance of girvls. areas
where women work under poor/ng sanitation facihities. under-nourishment and dehydration
among pregnant women and new mothers and children’s health during first 1000 days. The
abzence of safe and separate sanitation facilities is one of the kev factors preventing givls
from attending school. particularly during menstruation. '

Women are often vulnerable to harassment or violence when they use shared toilets, or
practice open defecation. The shame and indignity of defecating in the open affects their self-
esteem, Several women wait to relieve themselves after the sun-set and conzume less food
and water to delay the need to relieve them which leads to health problems. Poor access to
safe water and samtation ean have profound mmpacts for women and givls,

A lot of initiatives have heen taken towards building toilets in schools. health centers,
villages etc. But only building toilets is not ensugh, demand should also be generated
through soeial behaviour and change In communication strategies.

Access to water. hyvegiene and adeguate sanmitation are fundamental human rights. Thereiz a
serious need to ignite behaviour change.

Therefore, divect Imvolvement of women in the planning and management of sanitation
programs is important. Hyglene promotion interventions are to be designed considering
women and givls issues as priority, Enowledge/zolution exchange nitiatives programs from
other countries and implementation of successful and cost effective technologies are
important.



TTATE I F A T IR 9 v F I A

Ty fove § 2.4 fafers =3 g9t =am & o FEm w2 9 1 SEesar gResT # ag 5
T3 e 2 TR g R aTEn gieen wE SEREAl SO WW =R e 2, Uil wEn vE uhEw §
AEEIE GHT 71 75 AEAEA | SR 9, AIEE U AAE B H UGG # R | S =]
1 WA TR S G § TR ¥ T5EE 5 7 - TAeH wwed U9 weaal 9Ee A ASEa 6 aaeE |
T % AR 7 AEED S5 S9ATH WEeadl & A9 B i il 8, THEY HiEendl ud A qeEl vh
w1 F e B 9gE 1,000 T F AeE mumw ve e 2 e § aiee v s o
TG F 9T F T A § w A A [0 T F S, SgiEAl 9 0 e E

HiEeAE, F IisA A R O st Al 2 e d W Zigeal 99 e A 9 Rl B, e 3 e
T T T U9 FAW ° W6 F 30 Tead] 21 3HF HEEN S o0 309 F 5o # SAan Ol 2

ST ST | AiEeTien v SISl 9 Senas 9w s e |

TerET, TR G, T SeAn ¥ e i 7 9 ® WA 0 v F, S, Fee ZEeE e a9
FE 2, AfF ATaE STEEw S HO Ao i 5 w1 =)

T, TR T A Tl 1 QA GierE §eEa A 2 |

A T FEFE 1 AT T A § WieellsAl ] TAE E T A6 FA TEag 2, AiEers v
TS FOTF F TAEFAT F AN W GE S EE gau Sl F (SAET A A, 3= g |
Herd ]_’Irlér*.l

Given below arve two statements:

Statement I : A better communication skill will enhance the success of the programme
on sanitation and hygiene.

Statemet IT : There is a need to exchange ideas from various agencies and individual to
promote the programme on sanitation and hygiene.

In the light of the above statements. choose the correct answer from the options given below

B e e o e L
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[Question ID = 904][Question Description = 199_74_Women_studies_SEPT22_Q99]

1.

2.

Both Statement [ and Statement I1 are true

Fuq 1 2 11 51 |91 2

[Option ID = 3613]
Both Statement I and Statement I1 are false



[Option ID = 3614]
- Btatement I1is true but Statement IT is falze

F44 1 "l 7, =70 55 11 7Ted 2

[Option ID = 3615]
Statement I 13 false but Statement IT 12 true

Fo I e 2, Se H97 1L a8 &

[Option ID = 3616]

Read the following passage and answer the guestion :

Globally 2.4 hillion people live without access to improved sanitation. Looking at the
sanitation problems in India’'s. it's evident that women and girls bear a higher burden than
men. The ineguities suffered by women in rural or urban settings, affects them biologically,
socially and economically. The areas where impact of poor sanmitation is clearly visible are —
menstrual hygiene and sanitation issues as barmriers to school attendance of girvls. areas
where women work under poor/no sanitation facihities. under-nourishment and dehydration
among pregnant women and new mothers and children’s health during first 1000 days. The
ahzence of safe and separate sanitation facihties iz one of the keyv factors preventing givls
from attending school. particularly during menstruation. '

Women are often vulnerable to harassment or violence when thev use shared toilets, or
practice open defecation. The shame and indismity of defecating in the open affects their self-
esteem. Several women wait to reheve themselves after the sun-set and consume less food
and water to delay the need to relieve them which leads to health problems. Poor aceess to
safe water and samtation ean have profound mmpacts for women and givls,

A lot of initiatives have been taken towards buillding toilets in schools. health centers.
villages etc. But only building toilets 1= not ensugh, demand should also be generated
through social hehaviour and change in communication strategies.

Access to water. hvgiene and adeguate =anitation are fundamental human rights. There is a
serious need to ignite behaviour change.

Therefore, direct Imvolvement of women in the planning and management of sanitation
programs is Important. Hygiene promotion interventions are to be designed considering
women and givls igsues as priovity. Enowledge/solution exchange nitiatives programs from
other countres and Implementation of successful and cost effective technologies are
important.
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Imipact of poor access to water. samtation and hygiene on the health and well being of wonien
.and girls include:

(A) Adverse pregnancy outcomes
(B AMaternal Morbidity
(C) Viclence and Harassment

(I Psychosocial stress

Choose the correct answer from the options given below :

TEETHAT S AR ® Ty T FeA (well being) W S, a1 S WE-AEE F S A+
e § WA 7

(A)  ifeepe TaiEEeT Wit

(B) T =l

(C)  Trmn va ===

(D) TAHENFF od

419 o0 70 EEegl § § TE 39 F =999 e

[Question ID = 905][Question Description = 200_74_Women_studies_SEPT22_Q100]
(A). (B) and (C) only

F39 (A). (B) 51 (C)

[Option ID = 3617]



2. (A). (C) and (D) only
Fe1 (A). (C) =T (D)

[Option ID = 3618]
3. (A). (B) and (D) only

== (A), (B) 35 (D)

[Option ID = 3619]
4. (). (B)and (D) only

F94 (C). (B) 317 (D)

[Option ID = 3620]
Topic:- GP_22SEPT22_SH2_S1_PartA

1) The following table shows the details about the number of different categories of vehicles sald
(in thousands) in a ecity over the years 2017-2021. Based on the data in the table, answer the
questions 1-5:

Year-wise Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6580
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heavy Commercial Vehicle: LCV: Light Commercial Vehicle

e mEel § g 2017-2021 F w5 Se-er 40 % A F1 jakl (FEw §) @ e g o
ATFS W ST AR WA F | A 1-5 TeE o 39 A

9T AT I S (7AW A )

: Tre 1 A
BTH .
2017 52 128 464 | 306 GS0
2018 a0 120 484 | 344 672
2019 144 158 406 | 420 208
2020 162 186 560 | 482 322
2021 214 294 532 | 470 854

In which vear. the number of LCVs sald was approximately 25% of the number of
two-wheelers sold?

T = o, Ta fn w0 e A 1 e T o o gate ot i 5 = e 25% 67
[Question ID = 956][Question Description = 101_00_General_15_SEPT22_Q01]
- 2020

[Option ID = 3821]
2. 2018



[Option ID = 3822]

3. 9017
[Option ID = 3823]
4 20921

[Option ID = 3824]

2) The following tahle shows the details about the number of different categories of vehicles sold
(in thousands) in a city over the years 2017-2021. Based on the data in the table, answer the
questions 1-5:

Year-wise Sale of Vehicles (in thousands)

=" Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6580
2018 | @0 120 | 484 | 344 G672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heavy Commercial Vehicle: LCV: Light Commercial Vehicle

e Al § g 2017-2021 F w=FE Sem-S 40 A A (7AW F) w1 e o

A ATEA F R (7 H )

: ElGaiieate v
BTH .-
2017 53 128 464 | 306 G0
2018 a0 120 484 | 344 672
2019 144 158 406 | 420 =08
2020 162 186 560 | 482 322
2021 214 294 532 | 470 854

w H AT, ~ 9T AR a9, U H#L - weh itees an

If the percentage increase in the sale of HCOVs in 2022 over 2021 1= expected to be same as in
2021 over 2020, then approximately how many HOVs (in thousands) will be =sold 1n 20227

oz =4 2022 ° v=AL AL Fi ol 9 99 2021 F g9 # wiavE gig =9 2020 1 g § 99 2021 A
TATA TEA 1 TR R A AT 2022 B w0 e v AL (v w=n E) e am e

[Question ID = 957][Question Description = 102_00_General_15_SEPT22_Q02]

1. 278
[Option ID = 3825]

2. 282

[Option ID = 3826]
3. 288

[Option ID = 3827]
4. 266

[Option ID = 3828]



3) The following table shows the details about the number of different catesories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

questions 1-5:

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

e Al § =@ 2017-2021 % A AeT-3er A9 % Sl Rl ekl (FAW H) F EE el
APFS] W AT AW USEE # ) AW 1-5 WAl ok 39 S

F9-aW = A e (e )

: ElGaieale il
313’ e
TR A, | v | FwE | A | T 9
2017 53 128 464 | 306 G630
2018 ap 120 4584 | 344 672
2019 144 158 496 | 420 B0E
2020 162 186 a6l | 482 322
2021 214 294 532 | 470 834

The number of HCVs sold in 2020 was approximatelv what percent of the total number of
vehicles sold in 20197

79 2020 © Topa BT T TAELAL 39 2010 § B TR T FE AwAl F1 @ e e aaem
=

[Question ID = 958][Question Description = 103_00_General_15_SEPT22_Q03]

1. 8%

[Option ID = 3829]
2. 10%

10 e

[Option ID = 3830]

3. T%
Y
¢ ITATA
[Option ID = 3831]
4, g,

O TFeTE

[Option ID = 3832]



4) The following table shows the details about the number of different categories of vehicles sald
{in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

guestions 1-5:

Year-wise Sale of Vehicles (in thousands)

- Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 125 | 464 | 306 680
2018 | 90 120 | 484 | 544 672
2018 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

=T Tl § =3 2017-2021 F 3R fEI-33ET 490 %k ST Rl ek (FAW ) w1 TEEm e o
APFS] T AT ARl uglE # At 1-5 T o 3 i

T9—aw el F T (7R )

: il 1
a-rq =
v A | v A | W | Sy | Tgaiear aee
2017 22 128 464 | 306 Gs0
2018 a0 120 454 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 560 | 482 822
2021 214 224 632 | 470 2384

TR AT - 9T anisEE A, ve L - B S T

The =zale of two-wheelers as a percentage of the sale of total number of vehicles was highest in
the year

TR A W Tg—91ma1 ATeAT 21 (9] T ATeAl i ST T T o T 6 e o s 97
[Question ID = 959][Question Description = 104_00_General_15_SEPT22_Q04]
1. 2021

[Option ID = 3833]
2 2018

[Option ID = 3834]
3. 2017

[Option ID = 3835]
4. 2019

[Option ID = 3836]



5)

questions 1-5:

The following table shows the details about the number of different categories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

= mmel 7 =39 2017-2021 F w=ma -3 490 F T A s (= 9) F Ee g o

SRS T AT AW W A ) 5l 1-5 Yo & I St

F9-aW = A e (e )

: ElGaieale il
313’ e
v AL | vE L | e | S | i ans

2017 b3 128 464 | 306 G20
2018 a0 120 484 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 a6l | 482 822
2021 214 224 532 | 470 8R4

The percentage increase in the zales in the vear 2020 over the previcus vear was maximum

for which of the following categories of vehicles?

ATEA I HASNEA S0 5 H FREE TEd 99 2020 § e 99 w6 GGl T Tashl | e ’}I_L:; Al

97

[Question ID = 960][Question Description = 105_00_General_15_SEPT22_Q05]

1. Car
ELs

[Option ID = 3837]
2. HCV

= A=Al

[Option ID = 3838]
3. Jeep

r~

=L

[Option ID = 3839]
4. LCV

T H=T AL

[Option ID = 3840]



Topic:- GP_22SEPT22_SH2_S1_PartB

1) Which of the following tvpe of questions cannot sasily be autograded by LMS softwares?

T=TRa |5 | 6| TR % U9l F US TR T WAt G ST H 2SR R

[Question ID = 961][Question Description = 106_00_General_15_SEPT22_Q06]
1. Multiple Choice Question

[Option ID = 3841]
2. Tpue-False Question

HE - =3 WA

[Option ID = 3842]
3. Bubjective Question

[Option ID = 3843]
4. Matching Question

[Option ID = 3844]

2) Where do the important aspects of learning including analysis. application. ereativity and
evaluation take place as per the traditional model of elassroom teaching?

FHT A F WG WS F FEN G, ST, GEAEEal S qeadd #Ea aam & aeeagn
[Question ID = 962][Question Description = 107_00_General_15_SEPT22_Q07]
1. Qutside class
T4 | AT
[Option ID = 3845]
2. TInsideclass
Tl & Hiew

[Option ID = 3846]
3. During summative assessment

[Option ID = 3847]
4. Onrote learning

=7 FTH T AT SRR W

[Option ID = 3848]



Match List I wath Tast IT :

ListI List IT
(Methodology of Teaching) {Teachers support system)
(A) WVideo through LMS and face to face (I} Traditional
discussions
(B) TUse of Talk and Chalk and Shamng of (IIy Modern
notes
(C) Case-study discussions (IIT) ICT based
(D) Use of projector in class for delivering (IV) Hyhbrid or Blended
presentation

Choose the correct answer from the options given below !

H=hi-1 % |14 1 G-I 5o e ;

=1 T IT
(Toremr fame) Gt e e )
(A) US ©H UA % W H ANsE #E AEA- (I T
e EE
(B) =T R TE F T S TET w mE (I) A=
AT
(C) wav-weaae {aga (ITT) A =i & e
(D) wEgl % o % o WATE (WiHAe) w0 (IV) #iTe =n Tarsm
T

419 fou 70 faweal @ B 9F 39 #1999 i

[Question ID = 963][Question Description = 108_00_General_15_SEPT22_Q08]
T (A, (B)D). (C)-ID). (D)-(IV)

[Option ID = 3849]
2. (A)-(ID), (By-(I). (C)-(III), (Dy-(TV)

[Option ID = 3850]
3. (A)-D. (B)-(IV). (C)-(II), (D)-(IID)

[Option ID = 3851]
4. (ANIV). (B)-(D). (Cy-(II). (D)-(I1T)

[Option ID = 3852]

4) A teacher teaches in a scaled down situation of teaching. Which of the following terms can be

used for this type of teaching?

=% foerh w3 i Feiven aifeats @ wgm 21 39 TR % mam % o Fetea § 8§ 9 | 0 01
B HEA 27

[Question ID = 964][Question Description = 109_00_General_15_SEPT22_Q09]
1. Maero teaching

[Option ID = 3853]
2. Sampling teaching



-:Eiilr[-!l

[Option ID = 3854]

3. Cooperative teaching

HEEE] E

[Option ID = 3855]
4. Micro teaching

T T

[Option ID = 3856]

5) In which of the following teaching models. the learmer iz mostly self directed and iz
responsible for his or her own learning?

Feita T 1 = e aies 9 stomral Saee S-eEE 3 9 TE F AeTm F o e 5

X
=

[Question ID = 965][Question Description = 110_00_General_15_SEPT22_Q10]
1. Andragogical model

[Option ID = 3857]
2. Pedagozy model

[Option ID = 3858]
Flip-classroom model

et -TeTEEs Bise (FHa-3chd 5ise)

[Option ID = 3859]
4. Reflective teaching model

I'—‘Jq:.ﬁ 'FQ‘[?.-}TIT qiai:l

[Option ID = 3860]

6) Operational definitions have

[Question ID = 966][Question Description = 111_00_General_15_SEPT22_Q11]
1. Limited meaning

Hing =19 74 7

[Option ID = 3861]

2. Extensive meaning

i sl

[Option ID = 3862]
Sectoral meaning

[Option ID = 3863]

4. Universal meaning

3.



EEE w99 7 7

[Option ID = 3864]

7 A
) The ratio level of measurement has

T T S =R
[Question ID = 967][Question Description = 112_00_General_15_SEPT22_Q12]
1. A constant odd number
[Option ID = 3865]
2. A true zero point
[Option ID = 3866]
3. Unique applications
- ﬁ’ H . -l

[Option ID = 3867]
4 Limited use in Physical Sciences

e 99 § =iga =@

[Option ID = 3868]

8) The major advantages of an online Survey are:

(A) It provides strong control over data gathering process.
(B The identified respendent always fills the questionnaire.
() It 12 normally inexpensive.

(D) It facihtates the speedy collection of data

(E) It can be conducted from the researcher’s location.

Choose the correct answer from the options given helow |

AR FAGT F TS A A 7

(A)  =F IS AEEY AT W OAHsH T U5 HA 2
(B) Talea ulaam =9 9oTas & 95 A

(C) == \REE S 7 A

(D) == STFE1 F A AR F ETS A 2

(E) == 9geal =1 e J T=we B A 999 2

oo o fame § B mF T W =EE

[Question ID = 968][Question Description = 113_00_General_15_SEPT22_Q13]
1. A B.COnly
Fa7 A. B, C

[Option ID = 3869]
2. B.C.DOnly



FAAB.C.D

[Option ID = 3870]
3. 0.D.EOnly

a7 C.D. E

[Option ID = 3871]
4 A B.EOnly

Fa7 A, B. E

[Option ID = 3872]

9 Given helow are two statements :
Statement I i Visual ethnnography as a recent branch of research is dependent upon
photo-elicitation to.a large extent.
Statement IT :  The visual research has not helped in empowering the marginalizsed
people.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I1 are false
(3) Statement I 1= true but Statement IT 1= false

(4) Statement I is falze but Statement I 1= true

A= T Fe rom E
FoA 1 wEEgd F 9 T A F UF W F E9 U 9 900G 9E 5 O TR - 9
e 21

Fed I1: 579 STHGH 79 F S0 R JOFF FH F WES TR T E

T FOH F AEE O, A e W e 8 O a5 O =9 R

[Question ID = 969][Question Description = 114_00_General_15_SEPT22_Q14]
1. Both Statement I and Statement Il are true
o I s e |50 7
[Option ID = 3873]
2. Both Statement I and Statement IT ave false
e [ 3 1 gH1 530 =

[Option ID = 3874]

3. Btatement I is true but Statement I 1= false
w0 1 a0a 7, =i 9 I 35 2
[Option ID = 3875]
4.

Statement I 1s false but Statement II 1s true

FoF 1 515/ 7, @A 394 [ 978 &

[Option ID = 3876]



10

) Match List I with Tast 1T :
List I
{Types of case)
(A) Critical case

(B} TUnique case

List IT
(Description)

iI) Provides an opportunity to analyse a
previously inaccessible phenomenon.

(IT) Based on a well-developed theory

(C) TRepresentative case (III) Normally selected for clinical studies.

(D) Revelatory case

(IV) Related to common place situation

Choose the correct answer from the options siven below :

FH1-17% =12 FT gAi-11 T HifA0

1
(T = W)
(A) THEEATEE T
(B) FUEA T
(C) Wil T
(D) TEEAEEA TE

T=-10
(=)
1) o s aferea & favem & s
TR A
(IT) Hi=hias Egee W S
(III) =A== Fae 55999 (o 599
(IV) == 227 fets = gafi

= fon o e § 7 WE T A == i

[Question ID = 970][Question Description = 115_00_General_15_SEPT22_Q15]
(AT, (B)-(IL). (C)~(III). (D-(IV)

1.

2.

3.

4.

[Option ID = 3877]

(A)-(IID). (BY)=(IV). (C)(I). (D)-(IT)

[Option ID = 3878]

(A)-(IV), (B)-(I), (Cy-(IT), (D)-(I1T}

[Option ID = 3879]

(A)-(IL), (B)-(II0). (©)-(IV). (D)-(Iy

[Option ID = 3880]

11)  For a student of communication reading includes the gkills of

o e F fardt F o were e F g Fer 20

[Question ID = 971][Question Description = 116_00_General_15_SEPT22_Q16]

1.

2.

3.

Observation and analysis

TAATA TH Hre

[Option ID = 3881]
De-contextualisation

[Option ID = 3882]
Understanding for others

[Option ID = 3883]



4. Passive viewing of vizual media
ig—qm-?qjlwr'J_ qma.-—r
[Option ID = 3884]

12) Normally mass media operate 1n

Tl 9 HEE A g B a

[Question ID = 972][Question Description = 117_00_General_15_SEPT22_Q17]

- Personal Sphere

=i & H
[Option ID = 3885]
2. Political Sphere

L i e e
[Option ID = 3886]

3. Economic Sphere
[Option ID = 3887]

4. Public Sphers
Gl ER:

[Option ID = 3888]

13) In mass communication. the audiences are :

(A)  Well-defined
B) Anonymous
(C) Homogeneous
(D) Heterogeneous

{E) Scattered
Choose the correct answer from the options given below :

(A mEErEa

By =AW

(C) H=mmE

(D) TawEE

(E)

fom T faFeT © 0 TR S W =9 A

[Question ID = 973][Question Description = 118_00_General_15_SEPT22_Q18]
1. A B.COnly
Fae A, B. C

[Option ID = 3889]
2. B, C, D Only



FaAB. C. D

[Option ID = 3890]
3. B,D.E Only

Fa9B.D. E

[Option ID = 3891]
4 C.D.E Only

Fa7 C,D. E

[Option ID = 3892]

14 . . - . . o

) Which of the following can be used to overcome commumnication barriers in an organization?
(A) Unhmited use of grapevine.
(B) Sectionalized and preferred feedback
(C) Action-oriented communication
(D) Proper use of language
(E) Inter-personal relations
Choose the eorrect answer from the options given below :

e § ° e v AeaE d mnm sEe) w U A F R T e A A A

(A} TF TER w1 SEEa =
(By Tawrsm v sifam wioate
(C) = wrarE e

(D) T EEHEE T

(E) 3= T30 F T

Tam T fawel © © @E 3 F =99 A

[Question ID = 974][Question Description = 119_00_General_15_SEPT22_Q19]
. A B.COnly

Fa9 A, B. C
[Option ID = 3893]

2. B.C.D Only

F4= B, C. D

[Option ID = 3894]
3. (.D.E Only

F==C.D. E

[Option ID = 3895]
4. A D.EOnly

Fa[ A. D.E

[Option ID = 3896]



15)

Given below are two statements :
Statement T : The conventional electromic medium of television suffers from the
‘master-slave’ architecture.

Statement 11 : The Computer-based communication technologies promote
individuahi=m and creativity,

In the light of the above statements. choose the correct answer from the options given below :

B A B s i e L

F99 11 ZieIEeA 1 TSR SRl H1eTs =i e | 9 R
FoA I TV SV O A ST S Gl e Fel 2

TRl TE B e o e M 1B T L o et e = o o e L R e [ L

[Question ID = 975][Question Description = 120_00_General_15_SEPT22_Q20]

1.

PBoth Statement I and Statement I1 are true

[Option ID = 3897]
2. Both Statement I and Statement II are falze

[Option ID = 3898]
3. Statement I 1= true but Statement IT 1= false

o [ 50 2, S 9 11 #6907

[Option ID = 3899]

Statement I 1s false but Statement II is true

o[ [ woed 2, A FuE 1L e 7

[Option ID = 3900]

16) tha coding scheme the word 'STATEMENT is written as 'TNEMETATS'. In the same coding

gcheme, how the word POLITICAL zhall be coded?

U 2 B (F=T) Tgid 8 7er ‘STATEMENT %1 TNEMETATS' formar = 21 381 2 S agid
® v POLITICAL %1 0 15 71 ¢

[Question ID = 976][Question Description = 121_00_General_15_SEPT22_Q21]

1.

LATCTIOLP

[Option ID = 3901]

2.

LACITILOP

[Option ID = 3902]

3.

LACTILOP

[Option ID = 3903]
4. LACTILIOP
[Option ID = 3904]



17) In the number 455 1s divided in the ratioc of 4:3. then the two parts of 455 shall be
respectively?

Alg HEAT 455 W 4:3 F FAIA H FAINAT A1 A, A 455 F 5 G0 FET 70
[Question ID = 977][Question Description = 122_00_General_15_SEPT22_Q22]
1. 260, 195

[Option ID = 3905]
2. 250, 205

[Option ID = 3906]
3. 265,190

[Option ID = 3907]
4. 255,200

[Option ID = 3908]

18) Two students A and B are ranked 9% and 13% respectively from the top in a class of
37 students, What will be their ranks (A & B respectively) from bottom in the class?

37 TET F1 OF F41 9 @ 91 A 3T B W 5 T T #0091 66 1397 7| FE § A= T = (FE A
A1 B) T 31 70W 7

[Question ID = 978][Question Description = 123_00_General_15_SEPT22_Q23]

- 25 29
[Option ID = 3909]

2. 24, 28

[Option ID = 3910]
3. 29,25

[Option ID = 3911]
4. 28, 24

[Option ID = 3912]

19) A hov goes 10 km in the north direction from his school. From there he turns left and goes
15 km. and again turns left and zoes 10 km. How far is the boy from his school and in which

direction from schoal?

TF S H S H I g H 10 PR ST 21 99 | 9E WS SF gsAl ¢ AW 1S FREL e 2 oA
TH = =1 9% 43 9 9% 10 . I 7| 9 e O TueE § e g i FmeE g e e e

Bl

[Question ID = 979][Question Description = 124_00_General_15_SEPT22_Q24]
. 10 km and in North Divection
10 Tt 57 s e §

[Option ID = 3913]
2. 15 km and in South Divection

15 TH1 3w wiem f5en |

[Option ID = 3914]
3. 10 km and in West Direction

L0 TFH1 ¥ 9fv=s T |

[Option ID = 3915]
4. 15 km and in West Direction



15 TeT o7 afvam e |
[Option ID = 3916]

20) After getting two successive discounts. a shirt with a list price of Ra. 150 1= available at
R=.105. If the second dizcount is 12.5%. find the first dizcount?

TF FHE T g o9 % 150 B, W IR 9E (F2) F Oum 5.105 W 9o 2| A TE wm
12.5% 2, &1 951 =g 7 Firee)

[Question ID = 980][Question Description = 125_00_General_15_SEPT22_Q25]
1. 15%

[Option ID = 3917]
2. 20%

[Option ID = 3918]

3. 25%
[Option ID = 3919]
4. 1'}"1@.

[Option ID = 3920]

21)  If'same men are violent' is given as false which of the following could be immediately inferred
frrom 1t7
(A ‘No men are viclent is undetermined
(B) ‘Some men are not violent' is true
() "No nien are violent is true

(D) ‘All men are violent 1s false

Choose the correect answer from the options given below :

I A FE o EEE 2, F A S T 2, A1 55, eEd § H 0 aewie SEnTEd e o
TEAT A7

(A) = o =R e R e, At 2
B ‘TR @

(C) ‘=i i =t Fm o A

D) ‘= =mhE w2 e

{70 U famea °§ | TR I =99 R

[Question ID = 981][Question Description = 126_00_General_15_SEPT22_Q26]
1. B.C.DOnly

Fa9 B.C.D
[Option ID = 3921]
2. A B.DOnly

FaF A B.D

[Option ID = 3922]
3. Aand D Only



FaA AT D

[Option ID = 3923]
4 Aand C Only

FaE A S C

[Option ID = 3924]

22) “The universe must be spherical in form sinee all the constituent parts of the universe. stars
and planets etc. are spherical in form.” Which fallacy 1s committed in the above argument?

“HES F1 =Y § MR 291 9150 F6E Sas F A @ueAenE 97, 96 a8 960 08 @i merEn 7
I T H FA W aE o e 2
[Question ID = 982][Question Description = 127_00_General_15_SEPT22_Q27]
1. Begging the Question
T T S

[Option ID = 3925]
2. Fallacy of Composition

[Option ID = 3926]
3. Fallacy of Accident

[Option ID = 3927]
4 Hasty Generalisation

[Option ID = 3928]

23) (Given below are two statements :

Statement T : In classical logie, the umversal proposition implies the truth of its
corresponding particular proposition.

Statement 1T :  Two propositions that cannot both be true and cannot both be false are
called contraries.

In the light of the above statements. choose the correct answer from the options given helow :

fAT e

FH 1 OHE T AR, AEEE ah-aeE 5 9 559 [ qh A A S w

=
I

i) ) -, I [ o i . i, g .
T FYA R AR H, A9 150 T TSR 0 H HEE ST 3 R 99 S

[Question ID = 983][Question Description = 128_00_General_15_SEPT22_Q28]
1. Both Statement I and Statement II are true

Fom [ 3w 1L 5 o0 &

[Option ID = 3929]



2. Both Statement I and Statement IT
Fam 1 310 [ 5F 990 2

[Option ID = 3930]

are false

3. Statement I1s true but Statement II 1= false

Fo 1599 2, =it 52 11 =5

[Option ID = 3931]

4. Btatement I 1= false but Statement IT 1s true

Fo | 797 7, A0 FoA L7 7
[Option ID = 3932]

24) Match List I with List I1 :

Tast I
{Type of Inference)

{A)  Sartha anumana
(B} Pararth anumana
(C)  Eevalanvayl anumana

(D) Kevalavyvatireki anumana

Li=t IT
{Description)

(I Nddle term 1s alwavs and onlv negatively

related to the Major term.

(II) The terms agree only 1n presence. there being no

instance of their agreement in ahsence

(I} No formal statement of the different membera of

inference

(IV) Presented in language and has to be done only to

convince others

Choose the correct answer from the options given below :

T~ 1% =19 = g 1L foem fifam
o

(3TIHF 1 AFR)
(A) =n4E 3EE

(B) T FaET

(C) FacT{a: FHAH

(D) FaerAiaE ATAE

HI-1T
(Ta=mom)
(I) &% 93, W@ 9% | T5g 390 Fael SHEEE B9 H
HETEA 2
(II) 9% Fae S9EAE § 957 79 7, uH] %5 290 72
2 W 9 AR § weE |
(IIT) =F"F 5 199 AoE] 1 H1E S =E1s faavm 564
(IV) 9T § Wega =61 & #i Fae 991 % B4 & o,

o )

9 oo o e B T T = S A

[Question ID = 984][Question Description = 129_00_General_15_SEPT22_Q29]

T (AT, (Bi~D), (C)-(IIL). (D)-(IV)

[Option ID = 3933]
2. (A)ITD). (B)-(IV), (C)-(T). (D)-(IT)

[Option ID = 3934]

3. (AT, (B)-(IN). (C)(II). (Dy-(T)
[Option ID = 3935]

4 (A)IV). (B)-(IID), (C)-(ID. (D))

[Option ID = 3936]



25) Whach of the following are essential characteristics of the middle term according to classical
Indian Logicians:

(A) It must be present in minor term

B It must be present in all positive instances in which the major term is present.
(Ch It must be absent in all nezative instances In which the major term 1s absent.
(D) It must be in compatiable with the minor term.

Choose the correet answer from the options given below :
T WA TN F FFE 6 U% F FeieiEd A [ear - 2
(A) %% wY 9E A e A
(B) %% =9 WYl GohWirHS FAAA] ¥ SURAT 36vd 7 THAE g s S A
(©) ===t TEmeE et 8 e aa o s v v s

(D) =7 7 9% F T s S A

Tau T fapeTl 9§ 9F 390 F 99 RiAv

[Question ID = 985][Question Description = 130_00_General_15_SEPT22_Q30]
. A BOnly
Fa5 A, B
[Option ID = 3937]
2. B, COnly
Fa9 B, C

[Option ID = 3938]
3. A B.C Only

FaAA.B. C

[Option ID = 3939]
4. A B.C.D Only

ABCD

[Option ID = 3940]

26)  Which of the following best describes a computer worm?

Tt 3 o St Fo T Foger 2 T A & =0 e 27
[Question ID = 986][Question Description = 131_00_General_15_SEPT22_Q31]
1. Malware that does not replicate 1tgelf but spreads through social engineering.

[Option ID = 3941]
2. Malware that replicates by attaching itself to a word processing document,

T, A T A4S WEHE ToE 69 A O F A 49T F 2|

[Option ID = 3942]



3. Malware that replicates by attaching itself to an executahle programme.

Tieaat, 1 T Saied G 0 ST SR S F AR o w2
[Option ID = 3943]

4. Malware that replicates itself as stand alone software.
T, H - A F E W S S T a9 e A

[Option ID = 3944]

27)  Which IT project in India is the main provider of ICT infrastructure for creating a knowledge

society with the aim to ushering in a knowledge revolution in the country?

TH=tleitEn B | FiAE 5.4 9igre 5u F 3 F009 F gE9E 6 3599 § TR 5 - S S99 F
& 10 A% 5.5, S g TEE
[Question ID = 987][Question Description = 132_00_General_15_SEPT22_Q32]
1. NEN
T L,
[Option ID = 3945]
2. UIDAI
7,318 S0 TS,
[Option ID = 3946]
3. National Informatics Network
-\.J.I:f"rr:’."'r

[Option ID = 3947]
4. Megh Raj (GI Cloud)

T (.. e

[Option ID = 3948]

28) Amar’s college uses a form to collect data from new students. The data 1s used to create
information that can be used by the college. Which of the following statements are true about

information?

(A) Information iz raw facts and figures that have not been given a meaning.
(B) Information can be produced by processing raw data.

() Information iz automatically encrypted when it 1s produced.

() Information is raw facts and figures that have been given a context.

Choose the correct answer from the options ziven below



T ] TR AT A 221 T T 0 U 0 R S FA 2| G A F e s
ol

AR AT ST 2, THEET R 39EF W GEAT 7| FEeiEs § 8 i w0 gEa & 96§
i

(&) T A Ao A S A w E, T e a9g o
(B)  FUNeFRa 321 % THEE % GR1 g A1 W Al 2

(C) = FoAT 7S Sl 7 Al 97 99 I e 7 e 2

(D) e st Al s S A A 2, e v aed fomn v 2

fon T fFFeal 5 8 H9E 3 W =99 i

[Question ID = 988][Question Description = 133_00_General_15_SEPT22_Q33]
1. Agnd C Only

Fae A #HE C
[Option ID = 3949]

2. A and B Only
FaA A G7 B

[Option ID = 3950]
3 BandD Only

a9 B #0 D

[Option ID = 3951]
4. Cand D Only

a5 C 77 D

[Option ID = 3952]

29) Identify the correct ascending order of the following numbers under A.D represented in

different bazes:

{A) (11101011)2 (Base — 2 binary number)
(B) {564z (Base — 8 Octal number)

(0 {614)10 (Baze — 10 decimal number)

(D) (489)15 (Base — 16 hexadecimal number)

Chaese the eorrect answer from the options given below :

Tata= s § A-D F 3 JaHe 50 FeteiEs T F Ge anE 5 5 9eae i
(&) (11101011)> [smem-2 Tgemyr e

(B)  (584)s [snav-§ oae] @]

(€) (614 [39F- 10 Toea T

(D) (4809)16 [#T97 - 16 TZAEHAa T

U U ke B H HEl 3 B =EE i

[Question ID = 989][Question Description = 134_00_General_15_SEPT22_Q34]
. ACDB

[Option ID = 3953]
2 D.C.B.A



[Option ID = 3954]
3. B.C.AD

[Option ID = 3955]
4 ABCD

[Option ID = 3956]

30) Consider the following spreadsheet:

A|lB | C
1| 4 3
2168 | 2
3| 7
4 | 8 9
5| 9
6

If the formula = 3A3 + B2 in cell (4 1= copied to cell C5, then what is the value in ¢ell C37

AR FIEeE W EET i

C

b | oo |

0 | G0 | = @ e |

L ) R Y S Tl S

aiT Fe (Fiaw) B4 8 g7 = 3A3 + B2 1 e His # wfartq B 9 2 9 @ Hi5 F 99 (35g) F=
=Y

[Question ID = 990][Question Description = 135_00_General_15_SEPT22_Q35]
1. o]

[Option ID = 3957]
2. 8

[Option ID = 3958]
3. 17

[Option ID = 3959]
4. 16

[Option ID = 3960]
31)

Which of the following pesticides iz expected to persist in the environment for longer perlod as
compared to others?

= AT e f qee 8 et A G F S 8 sieE g6a  F 51 w5 6
HYTAT w2 7

[Question ID = 991][Question Description = 136_00_General_15_SEPT22_Q36]
1. Dieldiin

-
sizlleg

[Option ID = 3961]
2. Parathion



[Option ID = 3962]
3. Malathion

:= I .'ﬂ'l_'T{

[Option ID = 3963]
4. Carbarvl

fr

E L L

[Option ID = 3964]

32)  Arrange the following terms chronologically according to the time these were first introduced.

(A) Principle of common but differentiated responsibility.
(B) Sustainable Development
(C)  Nationally Determined Contributions

(D) Clean Development Mechanism

Choose the correet answer from the options given helow :

L e ot e T i e e el 2 e B e P 2 o e e o) o L e

(A) TEn Wy A9Ed TEe = EA
(By @ad =wm

(C) T8 AT W EETEE I

(D) == T wE-EE

fon T et § 0 TR I W =9 i

[Question ID = 992][Question Description = 137_00_General_15_SEPT22_Q37]
. ABCD

[Option ID = 3965]
2. B.ACD

[Option ID = 3966]
3. BADC

[Option ID = 3967]
4. A B D C

[Option ID = 3968]

33) Identify the nuclear disasters among the following:

(A) Love cannal
(B) Fukushima
(C)  Kyshtym
(D) Chernobyl

Choose the most appropriate answer from the options given below :



FretetEs © afaE s Fl 9m e 5

(A) = FEE
(B) I
(Cy  TiEm
(D)  =ATE

fzu o faehedi © B |A = = A

[Question ID = 993][Question Description = 138_00_General_15_SEPT22_Q38]
1. A Band C Only

A A BER C
[Option ID = 3969]

2. B.CandD Onl
Fa9 B, C #r D
[Option ID = 3970]

3 A BandD Only

FaFA A, B#E D
[Option ID = 3971]

4. D Only

#Fae D

[Option ID = 3972]

34)  Mlateh List T with List IT -

ListI Tist IT
(A) Pathogens (I+  Thorium
(B) Inorgamie Chemicalz (II) Plasties
(C) Organic Chemicals (IIT} Bacteria
(D) Radicactive Meterial (IV) Heavv Metals

Choose the correct answer from the options given helow :

T~ 1% A1y =1 70— 11 foemm shifee

=1 =110
(A) = Iy =ifeEs

(B) st mEm (D) s
(C) FET T (IIL) =i
(D) ifEmfEm amdi (V) 9l gEe
Hi= fou v fawear @ 1 A 39 = =g Firav
[Question ID = 994][Question Description = 139_00_General_15_SEPT22_Q39]
1. (A)-(I). (B)-(ID), (C)-(III), (D1-(IV)

[Option ID = 3973]
2. (A)(II). (B)-(OV). (C)-(IID). (D)-(I)



[Option ID = 3974]
3 (AVAIID. (BRIV). (C)-(I), (D)-(IT)

[Option ID = 3975]
4. (A)-(IID. (By-(IV). (C)-(IL). (D)D)

[Option ID = 3976]

35) Given below are two statements : One is lahelled as Assertion A and the other is lahelled as

Heason R.

Assertion (A):  Energy of most cveclones dissipates fast after landfall.

Reazons (R) : Surface roughness of land areas i= higher than that of ceeans,
In the light of the above statements. choose the most appropriate answer from the options

given helow :

=t f F9A oo T ;v e (Assertion (A)) % =9 ° TEEA £ 91 5E0 796 FEW (Reasons (R))

FETH :

A (A) 2 e e e e 2 e e o e et e
FF (R) AT T HART WA WEET i SA9E SF A R

A FAA F A A, A9 0 T T A 8 OeE I 3 6 wE e

[Question ID = 995][Question Description = 140_00_General_15_SEPT22_Q40]
1. Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(A) 37 (R) 5/1 =51 7 &1 (B). (A) =i 981 == 7

[Option ID = 3977]
2. Both (A)and (R) are true but (R) iz NOT the correct explanation of (4)

(A) #T (R) 51 503 = =103 (R). (A) 1 a1 =3msg1 747 =
[Option ID = 3978]

3. {A)is correct but (R) 1s not correct
(A) 72 2 @ (R) w8 99 2

[Option ID = 3979]
4. {A) 1z not correet but (R) is correct

(A) @8t 5 & =i (R) 571 2

[Option ID = 3980]



36) Given below are two statements :

Statement T : IKotham Commission recommended a natlonal system of educaction

hazed on structure of 10+2+3,

Statement II : National Enowledze Commission was constituted in June 2005 by the

eastwhile Prime Minister Dy, Manmochan Singh,

In the light of the above statements. choose the correct answer from the options given below :

= A e mEom R

i 1

T 11 :

FrET AEE T 10+2+3 F = W e e e T # m@emm A

S 2005 T SRR TGH T ST TN (5 A TEE T S 5 TS A g

SO YA F AEIE , A 150 0 ) § H T 3 9 =ET R

[Question ID = 996][Question Description = 141_00_General_15_SEPT22_Q41]
1. Both Statement I and Statement II are true

e [ # [l o =03 =

[Option ID = 3981]

Both Statement I and Statement II are false

T2 [ 3w =[] s 7

[Option ID = 3982]

Statement [ 1s true but Statement 11 is falzse

F— 5
o 1943 7, @A ®ae 11 590 7

[Option ID = 3983]

Statement I 1= false but Statement IT is true

[Option ID = 3984]

37) Who among the following were prominent women vedic scholors?

(A)
(B)
(C)
(I
(E)

MMaitrevi
Viswambhara
Apala

Gargi
Lopamudra

Choose the correct answer from the options given helow :



a3 9 BH F51 Fi1 T qiEe =g 4

(&)
(B)
(C)
(D)
(D)

2w U Taeeal O H HE 3T S =9 R

[Question ID = 997][Question Description = 142_00_General_15_SEPT22_Q42]

1. A D.E Only
Fa9 A D. E
[Option ID = 3985]

2. A C.D Only
Fa5 A C.D

[Option ID = 3986]
3. A C.D.EOnly

Fa9A C.D. E

[Option ID = 3987]
4 ABCDE

ABCDE
[Option ID = 3988]

38)

The cbjectives of All India Council of Technical Education (AICTE) arve:

(A)
(B
()
(D)
(E)

Promotion of gquality in technical education

Funding salary of teachers in engineering colleges.

Flanning and coordinating development of technical education system.
Promoting continuous and open learning in technical education

Regulation and mamtenance of norms and standards

Choose the correct answer from the options given helow :

HATG AAE AR e g (TR ) e Bt

(A)
{B)
()
(D
(E)

AT FEA] B AT aad w5 e

FEATR 5T § WA ST G ATSTE AT o

fou T T § O OF 39 W 99 A

[Question ID = 998][Question Description = 143_00_General_15_SEPT22_Q43]
" A D EOnly



#a4 A. D. E

[Option ID = 3989]

2 A B.EOnly
Fa9 A B.E
[Option ID = 3990]
3. A C.EOnly
Fa9A.C. E
[Option ID = 3991]
4. A C.DOnly
FaAAC.D
[Option ID = 3992]
39)
Given helow are two statements :
Statement [ :  National Education Policy 2020 recommends abolition of the system of
affiliation of eolleges 1n higher education system.
Statement IT ; National Education Policy 2020 recommends strengthening and
empowering the Central Advisory Board of Education (CABE),
In the light of the above statements. choose the correct answer from the options given below :
FoH [ T e A 2020, ° I 1900 UOE] 3 SEEETeE] S el Tl 5EE A a9
e IL: g o 5 2020 8 F=r e garsn a2 (H10EE) 6 596 6410 39F HEerE
1 s A

I YA F AETE °, T 50 T T 5 F e 3 1 999 i

[Question ID = 999][Question Description = 144_00_General_15_SEPT22_Q44]

1.

4.

Both Statement I and Statement I1 are true

Foq I em o9 3

[Option ID = 3993]
Both Statement I and Statement II are false

Fo9 1 31w Il 5[l 3959 7

[Option ID = 3994]

Statement [ 1s true but Statement II is false
Fo [ @eg 2, 9 F49 11 350 2

[Option ID = 3995]

Statement I is false but Statement 11 1s true



[Option ID = 3996]

40) Given helow are two statements

StatementI : Understanding the concept of sustainable development 1s the pre-requisite
for developing the values needed for it

Statement IT : Sustainable development iz defined as development that meets the needs of
the present generation withoui compromising the ahility of future
generations to meet their own need.

In the Licht of the above statements. choose the correet answer from the options given below :
EiE] ?:J EZL %ﬁ mE
FoF 1:  WAd FFE 9 92 T F BEE F 0 OEs T F SauannenE 5y =0 7

FoA 11 &Fa A 1 36 W % =0 H ST e 2, S 9 S s g
Torm h1 men @ maEiar o AT 3dEE SR # S g e 2

T FUT T SR 5, 369 50 T gweul § 5 WA 3 6 5 Fa

[Question ID = 1000][Question Description = 145_00_General_15_SEPT22_Q45]
1. Both Statement I and Statement II are true

[Option ID = 3997]
2.  Both Statement I and Statenient II are false

o 1 4 ILoF] 99 7

[Option ID = 3998]
3. Statement I is true but Statement IT is false

w9 1o 2, =194 %99 11 594 ¢

[Option ID = 3999]
4. Statement I is falze but Statement IT 1= tige

Fo 1 3759 &, =9 T4 L9 7

[Option ID = 4000]

Topic:- GP_22SEPT22_SH2_S1_PartC



1)

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economie growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. airports.
utilities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic nshitutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation,
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes nornial banking operations. allows
prices to spiral out of control. and fails to control diseases and soecial problems, it i1s hard to
1imagine how the economy can develop: Another critical function for government 1= to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owWners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not =afe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitrarily. A commitment to protect private property is not
necessarily something that henefits only the rich: in most poor societies, the principal
property owners are farmers,

T=ATeTge T T qiRv # UeH W 46-50 F I -

wFE, M | wada =+ fow v wedm gee it i = e 2, ﬁﬂﬁ—v{mé-—lﬁ%ﬂﬁia%r
TR S, S S Haig @R TgA 0 9rEE H0 2| TF UH A 95 SA1GE e =
e Ao, 7T, =4 32, AN SE, §E0E 3 S69E el w9 iieE e atgten 2, A
=E TH AEF-TEH W FEA 5 T A0 SEvaE 7 S G99 v Sis Tt 59 5 36 TR 6
e, |l A w MHWWWW aﬂrrﬁ??rﬁr TEAEE = TA e, WA, il
A T AmTEE SEETEAT 0 AFIGE TR GNYEEE R d EE A WO T R
Fa 1 AN T Hq_lﬁ ST = F TeEEd 5 dFAl 2

T 9, qin A0 HEF1 UH (=Eredl 1 HE G0 TEtEE A w1 2, JEE s Sl §os
St 2, FIEA W F = S@ 31 2. S0 St S  eens W A e 8 A e
% A I% A FAT WA ¢ OF AUAata B S 5 Wl 2| AT, SaE w9l § e |
T A -TTerR 7 TR i 39 39 T § Haw wH 8 A R wEveEE) 2 AR 9 9oy F
mww{mﬁﬂnmwm?wﬁmwwww*mmw'ma?ﬂ? o= e
=9 H | AH A A 8, T 7 wE 2 R U et s 7 ST £ 1 el HilaE e
THAE T T e A 0 w| G mme v F i a9 A= = 0 O UH A 965 e, A
Fae A H T TR 7, W% HAIHEEEl TS JEE § e e Tt e 7 2

The Government's policy for economic progress should include

o112 L o= = i e 3 1 o e 2 1 T i) e [ A

[Question ID = 1001][Question Description = 146_00_General_15_SEPT22_Q46]

1.

2.

Coercing people to pay taxes.

[Option ID = 4001]
Develoopraent of physical infrastructure.

[Option ID = 4002]



3.

4.

2)

Control of trade.

[Option ID = 4003]

Withdrawal firom Social Sector,

AEAF A9 H 5

[Option ID = 4004]

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 12 the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities, ports. and the like, which are neceszary to allow trade and exchangze: and such
economic institutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,

=TT T F T AR TR W 4650 F I S

i, fm § wada =+ fow v s weeay A w0 e = w2, e S gt e W
Wwwmmnﬁmﬂwnwmﬂlwmﬂﬁmﬂ?aﬂﬂmmﬂa
THam wos, TV, B WS, SHNEN SR, §T0TE 3 HAE S A9l Wi @ A 2, A
=F T AEF-TEA H FEA 51 T A0 SEeaE 7 ST G99 v Ois Tt S 5 36 TR 6
TEG, A SN H HEET @ WAE U e R aEi o0 2| g = v e, WA, wEd
AR T AR SEETEAT ) AFGE W TR NEEE W aF A W e R

=74 1 AN T Tl 1 =R F TieEied 7 gEal 2

=it 2, FIEA F A F A A I 2, S S v A S WO w6 1A 1w
7 T AR FEAA FAl WA £ SAUSAEET e 7 W | SR, SGE 5 B e |
S A=A o e 1 S I9IGT OEA § gaW S 8 FE9 F SEeasa) 2 | 9 5e &
I A AR A A 7, e 94w 2 o st HIJGM_’H*—EbﬂI;h-TJH.NQﬂHTqQﬂU
TR B H W FA1 1 A 1 SR w6 1A & Ui aaqEgnl SEEE 9§ e UH = 95 8, A
FEE 99 F AH TR 7, S HAHEEAT TE 2ETE § WO o 09 0o e A A

Investment in Soclal infrastructure will enable people to hecome

AN AF FTHEATH =91 AT 1 S °§ A S ¢



[Question ID = 1002][Question Description = 147_00_General_15_SEPT22_Q47]
1. Aetive investors

2.

3.

4.

3)

[Option ID = 4005]

Socially controlled

AETEF ®9 # A0S

[Option ID = 4006]

Economically productive

HMdF =0 H ST

[Option ID = 4007]

Conscious of Government Commitment.

[Option ID = 4008]

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 12 the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities. ports. and the like. which are necessary to allow trade and exchange: and such
economic institutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,



Tl T i gien, S A W 46-50 I A

win, fawm | wade F o0 0% wwe seegy g = A = 5w 7, e 59 Seaes e #
Wwwquﬁﬁﬂwqwmﬂwmmﬂ?aﬁmm
T w5, 9T, 24 32, SAMET ST, STUTE 30 SE g A Sies fee Attt 3, A
=E TH SEF-T5H # S0 51 F 0 aEeaE 2 E 99 vg OiF ymieEt 59 5 35 7R #5
T, A AR A A T = =i :FF:FH TH P gEARF = T =gl mAnL el
AR T amEieE SEETEa ) AFEE F TF ATHeEE 0 J G F e T E T Fied
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To ensure economic development. the government should provide

[Question ID = 1003][Question Description = 148_00_General_15_SEPT22_Q48]

1.

2.

3.

4.

Security to property
Togte = g

[Option ID = 4009]
Opportunity to =ell property

[Option ID = 4010]
Help for factory owners to secure property.

[Option ID = 4011]
Scope to take the right to property for granted.

[Option ID = 4012]



4)

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economie growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. airports.
utilities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic nshitutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation,
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes nornial banking operations. allows
prices to spiral out of control. and fails to control diseases and soecial problems, it i1s hard to
1imagine how the economy can develop: Another critical function for government 1= to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owWners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not =afe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitrarily. A commitment to protect private property is not
necessarily something that henefits only the rich: in most poor societies, the principal
property owners are farmers,
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Protection to private property will benefit
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[Question ID = 1004][Question Description = 149_00_General_15_SEPT22_Q49]

1.

2.

3.

The Government

[Option ID = 4013]
The factory ewners only

[Option ID = 4014]
The rich people only



AT G =

[Option ID = 4015]

4. The poor farmers also

5)

# .-F - ﬂ:[

[Option ID = 4016]

Read the passage and answer questions from cuestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic institutions as financial and monetary svstems. which permat people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage srowth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to Invest in improving their ability to produce. and such improvements are unhikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,
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The paszage focuses on the need for

[Question ID = 1005][Question Description = 150_00_General_15_SEPT22_Q50]
1.

Support to the factory owners



[Option ID = 4017]
Securing property rights of farmers
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[Option ID = 4018]

Government investment in infrastructure development
ST F (FEE | aEE Ea

[Option ID = 4019]
Price control
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[Option ID = 4020]






